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Interest Rate Derivative Securities

5.1 Introduction

This chapter is devoted to interest rate derivatives. Interest rate derivatives
are financial products derived from interest rates. There are various interest
rates that will be mentioned in this chapter. Here we first give the meaning
of each interest rate and derive some relations among them.

An N-year zero-coupon yield or an N-year spot interest rate is the interest
rate on an investment starting at time ¢ and lasting for IV years. The invest-
ment is a “pure” N-year investment with no intermediate payments. Assume
that the interest is compounded continuously. In this case, suppose that at
time ¢t the N-year zero-coupon yield is Y (¢,¢ + N), then the investor will get

oY (Lt+N)N

at the end of year N for each dollar invested. A zero-coupon yield curve is a
curve showing the relation between Y (¢,¢t + N) and N.

A zero-coupon bond with a face value or a par value of one dollar is a
contract whose holder will get one dollar at the maturity of the contract from
its issuer. Let Z(t;T) denote the money a person needs to pay in order to
have the contract with maturity date 7" at time ¢. Then, between Y (¢, T) and
Z(t;T), there is the following relation

Z(t;T) = e Y DT, (5.1)
o In Z(t:T)
—1n Z(t:
Yt,T)= ————2.
(t.T) Tt

Suppose t < T7 < Ts. An interest rate determined at time t for a period
[T1,T5] and paid at time T5 is called a forward interest rate. Let us denote
this rate by f(¢,71,T:) and again assume that the interest is compounded
continuously. Among f(t,T1,T3), Z(t;T1), and Z(¢;T3), there is the following
relation:
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Z(t;Th) = Z(t; Ty)ef OT T (Ta=Th)

or
t,T1,1T5) = 1 . 5.2
f(’ b 2> TQ*Tl nZ(t,Tg) ( )

The reason is the following. If we borrow one dollar at time Tj, then we
need to return ef(tT1:12)(T2=T1) dollars at time T5 according to the forward
interest rate at time ¢. At time ¢, the values of one dollar at time 77 and
el TLT)(T2=T1) dollars at time Th should be the same, otherwise there is an
arbitrage opportunity.

An instantaneous forward interest rate F'(¢,7) is the limit of f(¢,Ty,Ts)
as Ty — T4, written as

—MnZ(t:T5) — In Z(t: T
F(L,T) = lim f(t.T0,T) = lim 26T ~InZ(GT)]

To—T, To—Ty Ty — T
-1 0Z(t;T;
_ (7). (5.3)
Z(t; Tl) 8T1

This gives
Z(t; T) _ Z(t, t)67 ftT F(tyu)du _ e~ ftT F(t,u)du’

Furthermore, combining this expression for Z(¢,T) with the relation (5.1)
yields

1 T
T-t/,
The limit of Y(¢,T) as T — ¢ is called the instantaneous short rate (see [43]),
the short-term interest rate, the short rate, or the spot rate (see [84]), denoted
by r(t), so

Y(t,T) = F(t,u)du. (5.4)

r(t) = lim Y (t,T) = Y (t,1).

Because from Eq. (5.4) we also have

: R
%LntY(t,T) = %{n)t Ti—t/t F(t,u)du = F(t,t),
we get
r(t) =Y (t,t) = F(t,t). (5.5)

Clearly, if Y'(¢,T) is equal to a constant r, then
Z(t;T) =e T,

and
f&, T, Ty) = F(t,Th) = F(t,t) =Y (t,t) =r(t) =r.
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In practice, the interest is often compounded discretely. If a loan of one
dollar is required to pay at an interest rate 7 compounded m times per year,
then the amount of each payment is

f
—-
For an investment with an interest rate r compounded continuously, the in-

1
terest payment for a period — years is
m

If

that is,
r=mln(l+7/m),

then the two investments are equivalent. Suppose that a forward interest rate
at time ¢ for the period [Ty, Ty + 1/m] is an interest rate compounded m times
per year and we use f(t,71,T; + 1/m) to denote this forward interest rate.
Let f(t,Ty,T; + 1/m) be equivalent to the interest rate f(t,T1,T) + 1/m).
Then we have

f(t,Tl,Tl —|— 1/m)>

m

f&, Ty, Ty +1/m) =mln (1 +

and the relation (5.2) can be rewritten as

mn (1 + f(t’Tl’ﬁJr Um)) =min (M)

or

f(t,Tl,Tl + 1/m) =m

{Z(t;ﬂ +1/m)

This is the counterpart of the relation (5.2) for an interest rate compounded
m times per year. Actually, this relation can also be derived directly. For the
formulae (5.1) and (5.3)—(5.5), we can also have their counterparts for interest
rates compounded discretely.

As we know, the value of a bond is related to interest rates. There are many
other financial contracts related to interest rates, which are signed between
two parties, for example, a bank and a company. These are called interest
rate derivatives. For an equity option, a typical life span is 9 months or less.
In this case, the assumption of a short rate being a deterministic function of
t, even a constant, is acceptable. If this is not the case, it may be necessary to
consider a short rate as a random variable. For example, a life span of a bond
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may be 5 years, 10 years, even 30 years. Therefore, it is more realistic to deal
with a short-term interest rate as a random variable. An interest rate cannot
be traded on the market. In Chap. 2, we pointed out that there is a unknown
function called the market price of risk for a short rate in the governing
partial differential equation (PDE) for interest rate derivatives. Before using
such an equation to price a derivative security, one has to find this function.
From the mathematical point of view, to find a unknown function in the
partial differential equation is to solve an inverse problem. This function in
the PDE is determined by some data associated with solutions of the equation.
The values of zero-coupon bonds with various maturity dates on the market
or some other data can be taken as the data needed. Moreover, reducing the
randomness of a zero-coupon bond curve to the randomness of the short rate is
not a good approximation in many cases. Thus, describing the randomness of
a zero-coupon bond curve by the randomness of several interest rates, namely,
considering multi-factor models, is necessary.

Therefore, the rest of this chapter is organized as follows. In Sects. 5.2
and 5.3, the problem for a bond is formulated and for four special models,
explicit solutions are derived. In Sect.5.4, we discuss the inverse problem
of determining the market price of risk and give a formulation of the inverse
problem so that the determination of the unknown function can be reduced to
solving such a problem. Then, we discuss bond options, swaps, swaptions, and
so forth in Sect. 5.5. Section 5.6 is devoted to multi-factor interest rate models,
especially, a three-factor model that can used in practice easily. Finally, two-
factor convertible bonds are discussed in Sect. 5.7.

5.2 Bonds

A bond is a long-term contract under which the issuer promises to pay the
holder a specified amount of money on a specified date. The specified amount
is called the face value of the bond, which is denoted by Z in this chapter,
and the specified date is named the maturity date T. Usually, the holder is
also paid a specified amount at fixed times during the life of the contract.
Such a specified amount is called a coupon. If there is no coupon payment,
the bond is known as a zero-coupon bond. Clearly, the bondholder must pay
a certain amount of money to the issuer when the bond is purchased. This
amount is called the upfront premium. In this section, we will mainly derive
the equations by which one can determine a fair value of the bond for any
time ¢, including the upfront premium.

5.2.1 Bond Values for Deterministic Short Rates

Let r be the interest rate for the shortest possible deposit, which is called the
short-term interest rate or, for short, the short rate in this book. For a short
period, » may be assumed to be a constant. For a long period, for example, a
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few years, it is unreasonable to consider r as a constant. As a starting point,
we assume that the short rate is a known function of ¢, i.e., r = r(t). Let V(¥)
stand for the value of a bond with coupon rate k(t) at time ¢. Assume that
the return rate of a bond during the time interval [¢,t + dt] be the risk-free
short rate, so we have

dV + ZEk(t)dt = r(t)Vdt,
where Zk(t)dt is the coupon payment the bondholder receives during the time
interval. If the coupon is paid continuously, k(t) is a continuous function of ¢.

If it is paid at fixed times, k(t) is a linear combination of Dirac delta functions,
e, k(t) => kid (t —t;), t; < T. The relation above can also be written as
i

AV — r(t)Vdt = —Zk(t)dt.

Multiplying both sides of the equation by ol 7147 which is usually referred
to as the integrating factor, yields

el T gy _ () Vat] = — Zk(t)elt T gy,

The left-hand side actually is d ( S T)dTV) Therefore, we have

T T T T T
/ d (eft ’"(T)dTV) = V(T) - & Ty () = — 7 / k(7)els "(MdT gz
t t

and

V(t) — e ft r(r)dT

T
+Z/ ]{ ef 7(7')de/7_‘|
t

T
= V(T)e S v |1 4 / k(7 ”>d7d717 (5.7)
t

where we have used the condition Z = V(T). For a zero-coupon bond, k(t) = 0
and

V(t) = V(T)e  Ji rdr = go= Ji r(m)dr

From the right-hand side, we see that the value of V(t) depends on T'. How-
ever, this dependence is suppressed in this expression. In order to express this
dependence explicitly, the relation above can be rewritten as

V(t:T) = V(T;T)e Ji r(dr. (5.8)

where V(T T) = Z.
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At time ¢, the values of zero-coupon bonds with various maturities can
be obtained from the market, i.e., V(¢;T) with a fixed ¢ and various T is
observable. Suppose we have such a function. Differentiating the formula (5.8)
with respect to T yields

8V(t,T)_ . — tTr‘r T _ .
—p = V(TiTe JE a7y = —v (4, T)r(T)
nd
) T — -1 9V (;T)
r(T) = V(tT) oT

This means that the short rate at time 7' can be determined by the value and
the slope of the function V(¢;T). It is clear that r(7T') does not depend on
Z. Let Z =1, then comparing the expression for r(7') and the formula (5.3)
yields
Ft,T)=r(T)
and
Z(t;T) = e~ Ji rlwdu (5.9)

if Z =1. Also for a zero-coupon bond,

V(t;T)

VT T) =Z(t;T).

Thus, from the relation (5.1) we have

Y, T) = —lr}thg T) _—In (V(t}TEéV(T; T))7 (5.10)

which is usually called the yield of a bond during the time interval [¢,T].
A plot of Y against the time to maturity, T'— ¢, is called the yield curve. The
dependence of the yield on T'— ¢ is called the term structure of interest rates.
The historical data on bonds are usually given in the form of yields for various
T—t.

5.2.2 Bond Equations for Random Short Rates

It will be more realistic to consider the short rate r as a random variable.
Suppose
dr = u(r,t)dt +w(r,t)dX. (5.11)

From Sect. 2.3, we know that the value of a bond as a short rate derivative,
V (r,t), satisfies Eq. (2.34) with only one random variable r:

oV 1 0%V

ov
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where kZ is the coupon payment and A = A(r,t) is the market price of risk
for r. For a bond the value at maturity date T" is a constant Z, i.e.,

V(r,T) = Z. (5.13)

If the short rate model satisfies the conditions (2.39) and (2.40), then no
boundary condition is needed, i.e., Eq. (5.12) with the final condition (5.13)
has a unique solution.

5.3 Some Explicit Solutions of Bond Equations

There exist many short rate models. Here, we discuss the following model
(see [84]):

dr = [a(t) = 3(t)r] dt + /a(t)r — B(t)dX, (5.14)

where a(t), 8(¢t), ¥(t), and f(t) are given functions of ¢t. Several important
models, for example, the Vasicek model (see [81]), the Cox-Ingersoll-Ross
model (see [23]), the Ho-Lee model (see [41]), and the Hull-White model (see
[44]) possess this form. For the models in the form (5.14), the determination
of the value of a zero-coupon bond can be reduced to solving two ordinary
differential equations. Sometimes we can find analytic solutions or the solution
can be expressed in terms of integrals with known integrands. Such a solution
is referred to as an explicit solution here.
If a short rate model is in the form (5.14) and we take

A(r,t) = M)V alt)r — B(t), (5.15)

then Eq. (5.12) can be written as

B L ar s 2%+ - X —rv =0, (5.0
where
u(t) = 1) + XA (5.17)
and
() = F(t) + AMt)a(t). (5.18)

Here, we let k = 0 because we are going to determine the value of a zero-
2

. |4 . . .
coupon bond. Because the coefficients of 5z and — are linear functions in

r r
7, the solution of Eq. (5.16) with the condition (5.13) has the following form

V(r,t) = ZeAT—rB{T) (5.19)
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with
AT, T)=0 (5.20)

and
B(T,T) = 0. (5.21)

In fact, because the conditions (5.20) and (5.21) hold, we have
V(rT) = Z.

Substituting the expression (5.19) into Eq. (5.16) yields

dA dB 1 5
a3 [a(t)r = B(1)] B” — [u(t) = (t)r] B—r =0.
If the sum of the terms independent of r is equal to zero, i.e.,
dA 1 9
—_— == —u(t)B =
7 3P u(t)B =0

and the sum of all coefficients of r is equal to zero, i.e.,

dB 1
—— 4 -aB*+4(t)B-1=0
o T 5aB () 7
then the expression (5.19) is a solution to a zero-coupon bond. These two

equations above, which can be rewritten as

dA 1, .
—r = 5BWB* + u(t)B (5.22)

and iB 1

o= §a(t)B2 +5(t)B -1, (5.23)
have unique solutions satisfying the conditions (5.20) and (5.21). Thus, it is
true that Eq. (5.16) with the condition (5.13) has a solution in the form (5.19)
satisfying the conditions (5.20) and (5.21), and the solution of the problem
can be reduced to solving the two ordinary differential equations (5.22) and

(5.23) with the conditions (5.20) and (5.21).

5.3.1 Analytic Solutions for the Vasicek and Cox—Ingersoll-Ross
Models

If o, 8,7, in Egs. (5.22) and (5.23) are constant, then we can find analytic
expressions for A and B. When A and B have such expressions, the expression
(5.19) gives an analytic solution for a zero-coupon bond. In this case, Eq. (5.23)

can be rewritten as iB
«
5 = §dt. (5.24)

2
B2—|—lB—*
« «
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Since
2 2 —
BM”B—:(BJF7 )(B+7+w>7
«@ «@ «@ «
where
=/ + 2a, (5.25)
using the method of partial fraction decomposition, we can have
e «@
1 _ 21p 29
2 2 — ’
prrp 2 pyl=v p YtV
@ @ o @

Noticing this relation, we can easily find the solution to Eq. (5.24) by inte-
grating both sides of the equation:

/B(T,T) dB
B(t,T) B2 + QQB _ g
(6]

a 0 dB 0 dB

2 [/B(t,T) B+(y—v¢)/a /B(t,T) B+ (v+ w)/al
a {m =¥)/e (O +¢)/e }

29 [ B+ (y—v¢)/a B+ (y+v)/a)

T
9/ dt = (T ).
2 J, 2

From this we have

B+(y+y)/e _1+Y ya-o
B+(y—=¢)/a  y—%

or

v+ ew(Tft)_'V"‘z/J

B = o «
1— ﬂ eY(T—t)
Y=
2 [e¥(T—t) — 1]

CET e e 120

where we have used the relation 12 —v2 = 2a. After we find B, from Eq. (5.22)
we have

A(T,T)
/ dA = A(T,T) — A(t,T)

A(t,T)
t
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or

1 T T
A(t,T) = —55/t Bzdt—u/t Bdt.

Using the relation (5.24), we can obtain the results of LT Bdt and ftT B2dt
easily as follows:

4 - 0 2B/«
/t bt = ~/B(t,T) B2+ 2yB/a — 2/adB
20 [ =) /2Y) | (r+¢)/(20)
Awn[3+wwa+B+w+wVadB
_ =Yy, _(=d)je  aty G +Y)/e
atp B4 (y—v) /o ayp B+ (y+y)/a

(%

and

T ) 2 0 32
Bodt = — dB
/t a/B(t’T) B2+ 2yB/a -2/«

2 2vB/« 2/ )dB

T a /;t,T) ( B2+ 2vyB/a—2/a B2+ 2yB/a -2/«
0

% /B(t,T) (1 - ;(1z7¢1/;?7 0)4 - 73(1"*(_;/1/;0)‘7 0)4

BT T ) 8

e PR s i

Pt et

ay ¥
2 y—1 (v =) /o
a{B< 00 "Bt -v)/a
Lo+ () /e }
(y=¥)¢¥ BA(+v)/af

Therefore

B By—v) v=¥],, =¥/
A‘a“[a(www” o }1 B+ (1) /a
_[ By + 1) 7+w]ln (v +9)/

(-0 " ap | "Bty /a

(5.27)
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and

B w Bo—v)/a(y+)Y+u(v—v)/ayp
Virt)=Z2 o —da
{BHVW(}ﬁ<v+w)/a(w—w>w+u(v+w/aw

(v+9) /a

This is a solution of a zero-coupon bond suitable for all the models (5.14)
with constant «, 3,7, and i as long as we choose the market price of risk in
the form A (r,t) = A\y/ar — B. The parameters a, 3,7, and Ji can be obtained
from the data on the short rate on the market. However A, a parameter in the
expression of the market price of risk, cannot be determined from the data on
the short rate and should be obtained from the other data on the market. For
example, A can be determined from the yield function on the market by the

eB/a=mB (5.28)

- T - 2
least squares method, i.e., by choosing A so that / [Y(t, T, )\)—Y(t—T)} dT
t

is minimized, or

oY (t, T; /_\)

/T [Y (t,T;N) = Y (t, T)} Sy AT = 0. (5.29)

Here, Y (t,T) is the yield function observed on the market, whereas according
to the expressions (5.10) and (5.19), the function Y'(¢,T; A) is given by

y (t1;3) = 2T ?r) :;4(’5’ A (5.30)

where A(t,T; A) and B(t,T; A) are given by the expressions (5.26) and (5.27),
respectively, but the dependence of A and B on A is expressed explicitly here.
If the value of yield is only available discretely on the market, then we can

_ - 2
find a A such that Z {Y(t,Ti; A) — Y(t,Ti)} is minimized, or

3 [Y(t,Ti;X) - f/(t,Ti)} TN _ g, (5.31)
- o\
As soon as we have A, the (5.16) with constant «, 3,7, and pu can be used
to determine the value of any other short rate derivative. Generally speaking,
it is impossible to fit the entire yield curve by choosing only one parameter.
This is a drawback of such a model.

For some special models, for example, the Vasicek model (see [81]) and the
Cox-Ingersoll-Ross model (see [23]), the expression can be simplified. Let us
do this for these two models.

The Vasicek model is in the form

dr=(p—Ar)dt++/—pdX, pB<0, 5>0.
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Therefore, the expressions (5.26) and (5.27) with
a=0, p=pa+A3
and
Y=

give B and A for this model. In this case, the expression (5.26) becomes’

T—t
= w - 1(1 — e*W(T*t)). (5.32)
~ eV (T—t) 0%

However, the expression (5.27) cannot be used for calculation because of a =
0. In order to have an expression for A that can be used for calculation, we
need to find the limit of the expression (5.27) as @ — 0 or solve Eq. (5.22)
with B given by the expression (5.32) directly. Let us solve Eq. (5.22) directly.
Putting the expression (5.32) into Eq. (5.22), we have:

A(T\T)
AT, T) — A(t,T) = / dA

A(t,T)
= /t [252 (1 - e*V(T*”)2 + % (1 - e7<Tt))} dt
_ / [252 (1= e0) (—emr=0)
t

() eme)

T
T

g Y (B e L[
_ B (] vy +<+ P G )
{473 ( ) 272 vy ~y .
B o (T—1)\? B w
— (1o (T-1) Py (=
4v3( ‘ ) +<272+7 T -1
EEAN: —(T—1)
(272 + 55 (1 e ) .
Because of A(T,T) = 0, we obtain
_ (B ok B pB?
A= (272 + 5 (T—1t)+ 572 + 5 B+ et (5.33)

Consequently
V(r,t) = Ze~(B/27° 1/ )T —0)+(B/27" +p/y=r) B+BB* /4y
— 7o B/2V+/N(T=0)+(8/27*+1/y=r)(1=e 7T =D) Jy48(1—e 7 T=0)? /4y®
(5.34)

!This expression can also be obtained by integrating Eq. (5.23) with a = 0
directly, and for the case ae = 0, this direct way of finding the solution is easier.
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This is the value of a zero-coupon bond if the Vasicek model is adopted. As
pointed out above, the solution (5.34) can also be obtained by finding the
limit of the solution (5.28). This is left to readers as Problem 7.

Noticing that B does not depend on A in this case, we have

< rB(t,T)—A(t,T;)\)

Y(t,T;\) = o
B p B BB?
(mrh)a-o-(Gaet-n)e-
B T—t
BB Bk 5B
(erh)a-o-(Gael-n)e-
Tt
AB(T —t — B)
(T —1)
and
oy, - B(T—t-B)
ax BTN =y

Hence, Eq. (5.29) becomes a linear equation for X. From the linear equation,
we see that A is given by

B I B Q 8B?
t

T—t B (T —1) T
B T(Tfth)QdT
YJt (T—t)2

(5.35)

Because only A is chosen, the yield curve cannot be fitted entirely. Another
problem of this model is that r may be negative.

In order to rectify this problem, Cox, Ingersoll, and Ross (see [23]) pro-
posed another model:

dr = (g — r)dt + /ardX. (5.36)

This is also in the form (5.14) and 5 = 0 here. In this case, the solution for a
zero-coupon bond is

_ g [Brl =) fa] T B () o] T
V(”)‘Z[ G —9)/a ] [ G+0)/a } e
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Here, B is given by the expression (5.26), i.e.,

2 (T — 1)
(74 ¥) e TN — (y —¢)’

=i

and -

Y =7+ A,
where ) is a parameter in the expression (5.15) for the market price of risk.
However, the solution can have another form. Because

A(T,T)

T
mﬂan@n:/ dA:/u&ﬁ
A(t,T) t

IS TG )
- ”/t G 9) T (7)™

noticing A(T,T) = 0 and setting £ = e¥(T=%) we have

A(t,T)

ot 2T - e 2(6 — 1)d¢
B ”/t <v+w)ew<T—t>—<v—w)dt‘”/g [(v + 9)E — (v — ¥)]we

o T ) () — )

_¢(’Y+1/))/§ L—(v—w/(wwﬁ ¢ ]df

- % (€ — (v = 9)/(y + ) — (v + ) In /29

= 2 a1~ (3~ )/l + 9) ~ In(6 — (3~ )/ + )
+(v+ ) In&/2¢)

] < Qe+ (T—0)/2 >2u/a
= 1n .
(v +¥)e? T8 — (y — )

Therefore, we have a solution

he(TH)(T—t)/2 2u/a
pe ] e B, (5.37)

(v + )=t — (y — o)

which is the form given in the paper by Cox, Ingersoll, and Ross. It can be
proved that the two expressions are identical. This is left to readers to prove
as Problem 9.

In this case

Vmﬂ:z[

2 (ew(T—t) -1)r 2u 2pe(THVN(T—1)/2
yrn = 0T - -¢) o <(7 + )t T0 — (y— w)

T—t ’
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where v = 5 + Aa and ¢ = /42 + 20, so the dependence of Y (¢,T;\) on A
is quite complicated.

As we have stated, in order to use the partial differential equation (5.16)
to price the value of other derivatives, we need to determine A so that we can

have v = 7 + Aa. For example, we can obtain A by solving Eq. (5.29). Because
the dependence of Y (t,7; \) on \ in this case is quite complicated, Eq. (5.29)
has to be solved numerically. Just like the Vasicek model, generally speaking,
it is impossible to “build” the entire term structure of the short rate into a
parameter .

5.3.2 Explicit Solutions for the Ho—Lee and Hull-White Models

In order to fit the entire term structure of interest rates, it seems to be neces-
sary to require A to be dependent on t or r. If A depends on ¢, then for some
models in the form (5.14), the solution of a zero-coupon bond can explicitly
be expressed by elemental functions and integrals with known integrands. We
refer to such a solution as an explicit solution or a closed-form solution. The
Ho—Lee model (see [41])

dr = a(t)dt + / —pdX (5.38)
and the Hull-White model (see [44])
dr = (A(t) — yr)dt + / —BdX (5.39)

are such models. We note that the Hull-White model is an extension of the
Ho-Lee model and the Vasicek model. For the Hull-White model, B(¢,T) is
the same as for the Vasicek model, given by the expression (5.32):

1
B(t,T) = =(1—e "T71),

v
where
=7
Let v — 0, we have
B(t,T)=T —t, (5.40)

which is the expression of B(t,T") for the Ho—Lee model. For both of them,
Eq. (5.22) is in the form

dA 1
P 5532 + (1) B,

where p(t) is given by the expression (5.17):

u(t) = alt) + A5,



292 5 Interest Rate Derivative Securities

Here, we assume that the market price of risk is A(r,t) = A(t)y/—3. From the
ordinary differential equation above, we can find

T T
A(t,T) :—%6[ BQ(T,T)dT—/t w(T)B(r,T)dr

and
V(rt) = Ze— 55 JF B*(r,T)dr— [T w(1)B(,T)dr—rB(t,T) (5.41)

Here, B is given by the expression (5.32) or the expression (5.40), depending
on which model is used. Therefore, if \ is given, we can find V(r,t) without
any difficulties.

In practice, we need to find A(¢) from some data on the market, for exam-
ple, a given yield function Y (¢,T"). In order to do this, we rewrite the solution
(5.41) as

B 1 T B T B
InV(r,t)=InZ 25/:& B*(r,T)dr /t,u(T)B(T,T)dT rB(t,T)

or if we require that the solution (5.41) fits the yield function on the market,
we furthermore have

T T

1

| woBe 1y =Y 1)C 0 - 35 [ BTy - BT, (5.2
¢ ¢
where we have used the definition of the yield (5.10). If we define

1 T

(1, T) = Y (1. 7)(T 1) — 55 / B2(r,T)dr — rB(T)  (5.43)
t

and substitute (1 — e~ 7(7=7))/y for B on the left-hand side of Eq. (5.42), it
becomes
1

T
S /t w(r) (1 — e YT Ndr = Fy(t,T).

Differentiating both sides of this relation with respect to T twice yields

_OPR(t,T) | OF(t,T)

which is the function y(t) for the Hull-White model. After having the function
w(t), we can obtain A\(¢) immediately by

(5.44)

_ 1 -
At) = = [u(t) = a(@)]
8
if we want. Therefore, for the Hull-White model, we can find a function for
the market price of risk for r such that the entire term structure of interest
rate can be fitted. For the Ho-Lee model, in order to do this, we can use the
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same formula with v = 0, so in the expression (5.43) B = T — t. Because
in these models the entire term structure of interest rate is built into the
function A(t), these two models are often referred to as no-arbitrage interest
rate models. The difference between them is that the Hull-White model has
the mean reversion property that an interest rate model should have, whereas
the Ho-Lee model does not. However, even though the Hull-White model
has the mean reversion property, r is still defined on (—o0,00) because the
coefficient of dX in the model is a constant.

5.4 Inverse Problem on the Market Price of Risk

As we saw in Sect. 5.3, for some special interest rate models and some special
function of the market price of risk, we can find an explicit solution for a
zero-coupon bond and furthermore explicit expressions for the market price
of risk for which the entire term structure of interest rate or the entire zero-
coupon bond price curve is fitted. However, even though the model is in the
form (5.14) and solving the partial differential equation (5.16) can be reduced
to solving ordinary differential equations (5.22) and (5.23), we still may not
be able to find an explicit expression for the market price of risk if a(t) really
depends on t or even if « is a nonzero constant. In this case, the unknown
function A(¢) appears in both Eqgs. (5.22) and (5.23) and it may be necessary
to use numerical methods.

Also, there are other models, for example, the Black—Derman—Toy model
(see [9)):
o,(t)

dlnr = [u(t) — ai(t)

and the Black-Karasinski model (see [10]):

In r} dt + o, (t)dX

dlnr = [a(t) — () Inr]dt + o, (t)dX.

For these models, it might even be impossible to reduce solving a partial dif-
ferential equation into solving two ordinary differential equations. In addition,
it may be necessary to consider interest rate models (5.11):

dr = u(r, t)dt + w(r,t)dX

with more general functions wu(r,t) and w(r,t). For example, a model might
be more useful if u(r,t) and w(r,t) is determined from the data of the short
rate on the market. Also in order for the model to be more realistic, the model
should guarantee that the random variable r will be in a finite interval [r;, r,]
in the future if r is in the interval [ry, r,,] now. According to Sect. 2.4, if u and
w satisfy

{um,t) 1) 5w 1) > 0, (5.45)
w(Tl,t) =0
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Fig. 5.1. One month LIBOR on US dollar during Jan 1977-Sep 2007

and

{um,w 1)l 1) <0, (5.46)
w(ry,t) =0,

then the random variable r is always in [ry,7,]. In what follows, we will de-
scribe a model having such properties.

The real data of the 1I-month LIBOR (London Interbank Offer Rate) on
U.S. dollar during January 1977-2010 is available and is shown as a curve
in Fig.5.1. From the data we know that the minimum interest rate 7y, is
0.0022906 and the maximum interest rate 7., is 0.23562. Thus we assume
that for the interval [r;, r,] the lower bound r; is 0.0 and the upper bound r,,
is 0.24. From the data we can also determine the standard deviation of r for

[Pl

40 values of r by statistics, which are shown as “o” in Fig.5.2. Assuming
w(r) = (r — 1) (ry —7)(aor?® + bor + co),

using the values of standard deviation of r obtained, and using the least
squares method, we can find the values of ag, by, and ¢y, which are

ag =4.1, by=—0.51, co=0.0224.
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Fig. 5.2. w(r) with r, =0 and r, = 0.24

That is, the function w(r) in the form above from the real data is:
w(r) = (r—r)(ry —r)4.1r* = 0.51r + 0.0224

The curve of w(r) is also given in Fig.5.2. This function w(r) satisfies the
second conditions in the conditions (5.45) and (5.46). We can also find a
function u(r) satisfying the conditions (5.45) and (5.46), so r will be in [r;, 7]
if such a model is used. However here we do not discuss how to determine
such a u(r,t) from the real data. This is because, as we will see, we can choose
A(r, t) so that u(r,t) will not be used in order to do computation by using this
model. If such a model is used, we have to solve PDE problems numerically
in order to get market price of risk and the values of derivatives (for details,
see the paper [72] by Shi). In what follows, we briefly discuss how to obtain
the market price of risk numerically.

As pointed out in Sect.5.2.2; if we use the model (5.11), then any interest
rate derivative, V(r,t), satisfies Eq. (5.12):

2
(rj(j’—‘t/—l—éwQ%T‘z/—|—(u—)\w)??—‘;—7‘V:O7 0<t<T,

where we assume that there is no coupon related to the derivative, so kZ = 0.
This parabolic partial differential equation degenerates to a hyperbolic partial
differential equation or an ordinary differential equation at » = r; and r,, when
w (r;,t) = 0 and w(ry,t) = 0. Moreover, if the condition (5.45) holds, from
Sect.2.4.2, we see that no extra boundary condition at r = r; is needed in
order to find a unique solution. Similarly, if the condition (5.46) holds, then
no extra boundary condition at r = r,, is needed. Consequently, the final value
problem without any boundary conditions
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ov. 1 ,0°V oV
o + 2w 52 + (u — Aw) 5 rV=0 mn<r<r, t<T,
V(r,T) = f(r), r<r<r,

has a unique solution if the conditions (5.45) and (5.46) hold. As we have
discussed, u and w can be determined from the historical data of the short rate
on the market. However, in order to use this equation to price any derivatives,
we need to know A(r,t). As soon as such a A(r,t) is determined, an interest
rate model (5.11) becomes a no-arbitrage interest rate model. Thus, it is
important in practice. Suppose A(r,t) is a function of ¢ plus u(r,t)/w(r), i.e.,
A(r,t) = A(t)+u(r,t) /w(r).2 Then A(t), as the solution of the following inverse
problem, can be determined numerically by the term structure of interest
rates or, equivalently, by the zero-coupon bond price curve. Suppose that
t = 0 corresponds to today and today’s short rate is r*. Let V (r,¢; T*) be the
solution of the problem

ov. 1 ,0%°V < ov
E—’—iw m—l— [u — (A(t) + u/w)w] E—TV—O,

n<r<r, o0<t<T, (547
V(TaT*vT*) :17 ST STy

Here T* is a parameter. We need to find a function A(¢) defined on [0, 77 ,.]
such that V(r*,0; T*) is equal to the today’s value of the zero-coupon bond
maturing at time 7 and with a face value of one dollar for any 7™ € [0, T .|,
where 177, in the longest maturity of zero-coupon bonds on the market.

In this problem, the value of A(t) for ¢ € [0, T}] is determined by the value
of zero-coupon bonds maturing at time T* € [0, T5]. If A(¢) for t € [0,T}]
has been obtained and Ty > Ty, then the value of A(t) for ¢t € [T}, Ty] will
be found by letting V' (r*,0; T*) be equal to the value of a zero-coupon bond
maturing at time T* for any T* € [T}, Ty]. Therefore, the value of A(t) at
t = T* is determined by the value of a zero-coupon bond maturing at time
T* if the value of A(t) for ¢ € [0,7*) has been obtained. In order to find the
value of A\(T™), we need to make a guess about it and solve the problem (5.47)
from ¢t = T to t = 0 and then check if V' (r*,0;T*) is equal to the value of
the zero-coupon bond maturing at time T*. If T* is 20 or 30 years, then the
procedure of solving the problem (5.47) is quite long.

Actually the property of the function A(t) has a close relation with the
second derivative of the zero-coupon bond curve with respect to the matu-
rity time T (see Sect.10.1.1). If the zero-coupon bond curve is obtained by
the cubic spline interpolation, then the second derivative is continuous, but
the third derivative is discontinuous. The non-smoothness of A(t) sometimes

causes quite big oscillation of the solution of the bond equation if 7} . is big.

ax

2For such a choice of A(r, t), u(r, t)=A(r, t)w(r) = =X(t)w(r), so u(r, t) disappears
from the PDE. Thus we do not need u(r,t) in order to solve the PDE.
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5.5 Application of Bond Equations

The bond equation (5.12) can be applied to evaluating not only bonds but also
bond options, options on bond futures contracts, swaps, caps, floors, collars,
and even options on them. In what follows, we describe these applications.

5.5.1 Bond Options and Options on Bond Futures Contracts

A bond option is similar to an equity option except that the underlying asset
is a bond. A bond depends on the interest r, and consequently, a bond option
will also depend on r. Consider a T-year European option on a N-year bond.
Suppose that the time today is zero. Then the bond should be issued on time
T and will mature at time 7'+ N. In what follows, let T} denote T'+ N and
for simplicity, let the face value of the bond be equal to one. Thus, the bond
price is the solution of the problem

oV, 1 ,0%, oV, _
ar T gt ) GE k=0,
n<r<r, T<t<Ty, (5.48)

Vo(r,Ty; Tp) =1, 1 <r <y,

where we consider a coupon-bearing bond with a coupon payment k(t)dt dur-
ing a time period [¢,t + dt] and use V}, to represent the price of the bond. In
practice the coupon is not paid continuously, the equation should be

oV, 1 ,0%,

ot T2V a2

+ (u— )\w)% -V, + Zkié(t —t;) =0.

In this case V4 gives the quoted price (clean price). The price a purchaser needs
to pay is the cash price (dirty price)—the clean price plus the accrued interest,
which should be close to the price given by the model with a continuous
coupon payment. Here, we assume that the conditions (5.45) and (5.46) hold,
so at » = r; and r = r, the equation degenerates to a hyperbolic equation
and does not require any boundary conditions. Every model can be modified
locally, so the conditions (5.45) and (5.46) hold. Therefore, this assumption is
realistic. We also assume that A\(r,t) is known. A European call bond option
is a contract whose holder has a right to purchase a bond at time T at a
price E. Let V(r,t) be the price of the option. Clearly, V(r,t) should be the
solution of the problem

ov 1 ,0%°V ov
+ -w?—— + (u— Aw)—— — 1V =0, 7 <r <71y,

ot 2 or2 or
t<T, (5.49)

V(r,T) = max(Vy(r,T;Ty) — E,0), r<r <y,
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For a European put bond option, the final condition is
V(r,T) = max (F — V,(r,T;T}),0) .

For American call and put bond options, we need to require
V(r,t) > max (V, (r,t;t + N) — E,0)

and
V(r,t) > max(E — Vy(r,t;t + N),0)

for t € [0,t], respectively. For example, if the option is on a 3-year bond,
then N = 3. In this case, in order to determine the solution, we need to
solve a problem involving free boundaries, and the constraint is a function
of t. Therefore, this free-boundary problem is more complicated than that in
equity option cases.

We can also determine the value of an option on a bond futures contract,
which is denoted by V(r,t) in what follows. Again, let T}, be the maturity
date of the bond and T be the expiry of the option and the date the futures
contract is initiated. Also, suppose that the futures contract is matured at
time Ty € (T, Tp) and that the delivery price given in the option—the exercise
price of the option is K. When V(r,T) is given, we can obtain the value of
the option today by solving a problem similar to the problem (5.49). How do
we find V(r,T)?

Let Vio(r,t; Ty) be the value of the zero-coupon bond with maturity date
T, which is the solution of the following problem

a‘/},o 1 282‘/(,0 aVbO
— + = —dw)—— — 1V =0
ot T2V gz T w1 =0,
rp<r<r, t<T, (5.50)
‘/bo(rv Tfan) = ]-7 T <r< Tu-

Then the value of the bond futures contract with a delivery price K given in
the option can be expressed as

Vi(r, t;Ty) = Vo(r, t;Tyy) — KVio(r, t;Ty) (5.51)

for any ¢t < Ty. Let K* be the futures price for the futures contract with
maturity date Ty at time 7. K* should be determined by the condition that
the value of the futures contract is equal to zero when it is initiated at time
T, i.e.,

Vi(r,T;Ty) = Vio(r, T; Ty) — K*Vio(r, T; Ty) = 0.

From this condition, we immediately know that the futures price K* is equal
to %(7‘, T; Tb)/‘/bo(’/‘, T; Tf). If

K< K*=WrT;Ty)/Veo(r,T;Ty),
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the holder of the option will exercise the option because the value of the bond
futures contract

Vi(r, T;Ty) = Vi (r, T; Ty) — K Vio(r, T; Ty) > 0.
Actually this is the value of the option for this case. If
K> K" =V(r,T;Ty)/ Voo (r, T;Ty),
the value of the bond futures contract
Vi(r,T;Ty) = Vo (r, T; Tp) — KV (r, T;Ty) <0,

and the holder will not exercise the option, which means V' (r,T) = 0. Putting
the two cases together, for V(r,T) we have the following expression

V(r,T) = max (Vo (r, T; T) — KVio(r,T5T%),0) . (5.52)

Therefore, we can first solve the problem (5.48) from T} to T to get Vi, (r, T; T})
and solve the problem (5.50) from Ty to T to get Vio(r, T;Ty), and then use
the formula (5.52) in order to get V(r,T'). As soon as we have V (r,T'), we can
solve the problem (5.49) with V(r,T) as the final condition in order to find
the price of the option on a bond futures contract today.

It is possible to consider V, as a state variable and let the bond option
price depend on V;, and t. For example, suppose

AV = pVidt + oVpd X,

where p and o is constant. In this case, we get the Black—Scholes equation
with independent variables ¢ and Vj,, and use the Black—Scholes formulae to
find the prices of European bond options. However, because the bond price
must be equal to the face value at time Tj, which is often referred to as
the pull-to-par phenomenon, a bond has different features from an equity,
especially when ¢ ~ T}, (see Fig.1.3). Therefore, even though a model in the
form dV, = uVpdt + oVpdX can describe the dynamics of an equity well, it
could not state that of a bond. Consequently, the bond price obtained in this
way is expected to have a large error, especially when T' ~ Ty,. If the model is
in the form

AV = a(t)(1 — Vi)dt + o(£)VpdX,

where a(t) — co and o(t) — 0 as t — T, then the result might be much better
because such a model guarantees that V} has a unique value one at time 7.
Of course, in this case it might be necessary to get solutions by numerical
methods. Another problem of pricing a bond option in this way is to assume
that the short rate is constant throughout the whole life of the option. If T is
not small, it is not a good assumption.
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Promising to pay an amount E at time T is equivalent to issuing a bond
maturing at time 7' with a face value E. Thus, a right to pay F for a bond
with a maturity date Tp at time T is the same right to exchange a bond of a
face value E with a maturity date T" for another bond with a maturity date Ty
at time T'. Therefore, a bond option can be understood as an exchange option
that allows the holder to exchange a bond maturing at time T for another
bond maturing at time T}. If a bond option is dealt with in this way, it may
be necessary to choose a model so that at least the random variable for the
bond maturing at time 7" has the property of “pull-to-par.”

5.5.2 Interest Rate Swaps and Swaptions

This subsection is devoted to plain vanilla interest rate swaps and options
on such swaps—swaptions. As an example, let us look at the following N-
year swap on a notional principal @) between a bank and a company.? In the
swap, the bank and the company agree that during the next N years, the
company will pay the bank the interest payment on the notional principal
Q@ at a fixed rate r4(N) semiannually and in return, the bank will pay the
company the interest payment on the same principal at a floating rate at the
same times. Here, the floating rate in many interest rate swap agreements
is the 6-month London Interbank Offer Rate (LIBOR) prevailing 6 months
before the payment date. When the swap is initiated, both parties do not need
to pay any money. Thus, the contract has no value at initiation. The fixed
rate 75 (V) is called the swap rate for an N year swap and determined through
negotiation by the two parties. Clearly, the company wants rs (N) to be as
small as possible, and the bank prefers a higher r, (N). What is the value of
rs (N) both parties can accept? 75 (N) should be a rate such that the value of
the swap at initiation is zero. In order to know what equation rs (N) should
satisfy, we need to find out how the value of the swap is related to r,, where
rs denotes a swap rate that might not equal 7 (V).

Suppose the swap is initiated at time 7" and today’s time is t* > T. The
interest payments are exchanged semiannually at time

t,=T+k/2,

kE=k*+1,k*+2,--- ,2N, where k* is the integer part of 2(¢* — T'). Suppose
today the price of the zero-coupon bond with a face value of one dollar and
with maturity date t is Z(t*;tx). In the swap given above, the company will
pay cash Qrg/2 at time 5,k = k* + 1,k* +2,--- ,2N. The present value of
this cash flow is

2N
Z Qrs Z(t*; tk).

2
k=k*+1

3A swap can also be between two companies.
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At the same times, the bank will pay the company an amount of cash
%fi(tk,h tp—1,tr) at time tg, k = k*+1,k*+2,--- 2N, where f(tkfl, th—1,tk)

is the forward rate for the period [tk—1,{k] determined at time ¢;_1; and we
define tg+ = T+ k* /2. Because tg+ < t*, f(tgx,tgr, tg=+1) is known today and
the present value of the first payment is

Q * r
§Z(t stiegp1 ) f (Bre s tie s thv 1)

What is the present value of the other payments? Suppose we deposit @
in the bank at time tg+y1 for a period [tg+i1,tk-4+2] at a floating rate
f (ks g1, thr 1, thrg2). At time ¢, k = k* + 2,k* + 3,--- 2N — 1, we take
the interest payment away and still leave @ in the bank for the next half

year. In this way, we can generate a cash flow %f(tk_l,tk_l,tk) at time

te,k=k*+2,k*+3,--- ,2N — 1 and cash %f(th,l,th,l,tm) + @ at time

ton. Therefore, the value of the other payments is the difference between Q at
time -1 and @ at time toy = T + N. Written mathematically, the present
value of the other payments is

QZ(t" ty=41) — QZ(t; T+ N).

This result also can be obtained analytically. In fact, from the relation (5.6)
we know that the forward interest rate compounded semiannually at time g
during a period [tg, tr41] is

it tesr) =2 [ 2t te) 1} ;

Z(tr; the1)

where tr11 = t + 1/2. Therefore at time t*, the value of the cash flow %
f(te te, terr) at time tyy, k=k* + 1,k* +2,--- ;2N — 1, is

2N—1 Q
Do o F et i) Z(E s th)
k=k*+1
2N—1 t t
kyUk *
—Q Y gt ) 2
ja— ka k+1
2N—1
tk,tk Z(tk;tk_;,_l)]Z(t*;tk)
=Q . Z(t" k1)
& %:+1 Z tk,thrl)Z(t ;tk)
2N—1
=Q Y [Z(ttk) = Z(t5 b))
k=k*+1

= QIZ(t stk 41) — Z(t"5tan)]
= QZ(t" tg41) — QZ(t"; T + N).
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Let Vi(t*,75) be the present value of the swap to the company, which is
the present value of the cash flow the company will receive minus the present
value of the cash flow it will pay. From previous results, we arrive at

2N

_ Z ers Z(t*;tk)

k=k*+1

= QZ(t*atk*—i-l) |: lf(tk* tk* tk*+1):|

[\

-Q

2N
Z(t*;T + N) +k:§k*+1 52t ,tk)] . (5.53)

2N
The expression Q | Z(t*;T+ N)+ > %Z(t*;tk) can be understood as
k=k=+1

the present value of a coupon-bearing bond, and the expression QZ (t*; tx-41)

1 -
X |1+ 2f(tk*,tk*,tk*+1)] is the present value of another coupon-bearing

bond. Therefore, a swap can be seen as a combination of a long position
in one coupon-bearing bond with a short position in another coupon-bearing
bond.

Here, we also need to point out that the values of a swap to two parties
have the same magnitude but opposite signs. Thus, the value of the swap
mentioned above to the bank is

2N

25T+ Ny + Y T;Z(t*;tk)]

k=k*+1

Q

—QZ(t*;tre11) {1 + 1f(tk* the s tk*ﬂ)} .

In the case t* =T, we have k* = 0,tg+y1 =T + 1/2 and

f(T, T, T+1/2)=2 [Z(TT1+1/2) - 1} ,
that is,
Z(T;T +1/2) {1 + %f(T, T,T + 1/2)] =1, (5.54)
so we have
Vi(Tirs) = Q |1 — Z(T;T + N) ——ZZT T+k/2)|. (5.55)
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As we have stated, when the swap is initiated, the value of the swap should
be zero. Therefore, for the fixed rate in the contract we obtain

1— Z(T;T + N)

rs(N) =2 . (5.56)

2N
S Z(T:T + k/2)
k=1

Therefore, between the swap rate for an N-year swap and Z(T;T + k/2),k =
1,2,--- 2N, there is a simple relation: r4(N) can be determined by Z(T;T +
k/2), k =1,2,---2N. This relation is true for N = 1/2,1,3/2,---. Actually,
Z(T;T+k/2), k=1,2,--- |2N, can also be obtained recursively by

|- B R o i)

Z(T;T +k/2) = =1 (5.57)
- rs(/;/2)

ifrg(k/2),k=1,2,---,2N are given. Therefore, knowing r4(k/2) for different
k is the same as knowing the yield curve.

As we have mentioned, a swap can be understood as the difference between
two different coupon-bearing bonds. From the expression (5.53), we know that
the face values of both bonds are ). The expiration date of one bond is t541

and it pays a coupon %f(t,c y i, tir1) at t = tg« 1. Let V; denote the value

of this bond. The expiration date of the other bond is T+ N, and it pays
Qrs : - _

coupons —— semiannually starting at ¢ = tx-41. Let V, represent the value

of the other bond. The value of swap Vs(t) is equal to V; — V,. Any bond can
be priced by the bond equation. In fact, V;(r,t) is the solution of the problem

v, 1 ,0%V oV;
3151 §w2 37‘21 + (u — Aw) 87"1 —rVi=0, 7m<r<ry "<t <tpega,

Vi(rytges1) = QU+ ftee, tie, thes1)/2] rp<r <y

and V,(r,t) is the solution of the problem

av, 1 ,0%V, av, 2 Qr,
- Y —rV, S(t —ty) = 0,
o T3 g Tl dEE Vet 0, ot =) =0

T <r<ry, t"<t<T+N,
‘/o(raT+N):Q7 TZSTST’LL'
Let r = r* today and let A(r,t) be chosen so that V(r*, t*;t;) = Z(t*;ty),

k=k*+1,k*+2,--- 2N, where V(r,t;t) is the solution of the following
problem
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ov 1 ,0%V ov
st (u—Aw)— =1V =0
ot T3V g T Aw)G =V =0,
r <<y, <<t (5.58)
V(T,tk,tk) = ]-7 8 S r g Tu,
then
Q’I" 2N
Vo(r* t*rs) = QV (r*, t*;tan) + 79 Z Vire t*;ty)
k=k*+1
r 2N
=Q | Z(t";tay) + 5“ > Z(tit)
k=k*+1
and

Vi(r %) = Q [1 + fltwe tie  tiey1) /2] V(r*, £ e g1)
= Q [14 f(tre ti, tiwy1) /2] Z(t55 te 11).

From these two expressions, we can see that
Vi(r®, t%) = Vo(r™, t*;rs)

will have the same value as that given by the expression (5.53). When the
bond equation is used, the value of the swap is not only given at r = r*,
and V5 is considered as a function of r and ¢, i.e., Vi = Vi(r,t). The value of
the swap is also dependent on the value of 5. Therefore sometimes Vi (r,t) is
written as Vi(r,t;7s), where rq is a parameter.

Indeed, in order to find Vi(r,t), it is not necessary to find V;(r,¢) and
Vo, (r,t) separately; instead, we only need to solve

ov, 1 282V5 oV, 2N Qr,
5 T3V 5z + (u — Aw) 5 rVs —k:;ﬂ 5 5t —tx)
f (st st g1)

rp<r<r, t*<t<T+N,

‘/S(T7T+N):_Qa TISTSTU.

It is not difficult to show this conclusion, and we leave this proof to the
reader as problem 15. Now we can find the value of a swap either using the
formula (5.53) or solving the problem (5.59) and get the same answer. Many
people will choose to calculate the value of the swap by the expression (5.53)
because it is simple. Why do we need to consider problem (5.59)7 It can

OV (r*,t)

provide some information on and the bond equation will be useful

-
when pricing a swaption by solving bond equations.
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An option on a swap, or a swaption, is a contract to give the holder the
right to enter into a certain interest rate swap by a certain time in the future.
Consider a European swaption. Its holder has the right to choose if he should
have an N-year swap at time T under which he will pay interest at a fixed
rate rg. (the so-called exercise swap rate) and receive interest payment at
a floating rate. Let 7/ be the N-year swap rate at time 7', which can have
infinitely many possible values. If rg, < 7., then the holder will choose to
exercise the swaption because the value of a swap with a swap rate 7 at time
T is 0 and the value of a swap with a swap rate r. < r’, should be positive, but
the holder can enter into such a swap without paying any money. If o > 7.,
then the holder will choose not to exercise the option because the swap rate
is lower on the market.

Such an option interests companies who plan to enter into a swap as a fixed
rate payer because the swaption provides the companies with a guarantee that
the fixed rate of interest they will pay on a loan will not exceed rg..

According to the result (5.55), at time 7', the values of the swaps with
swap rates r, and rg. to the company are

_ o,
(Tir!) = 1-Z(T;T+N) —S Z(T;ty)
and
r 2N
Vi(Trse) = 1-Z(T;T+ N) — 2L Z(T;t
(Tir) =Q L= 2T+ N) =3 2Tt

respectively. If rg. < 7/, then the value of the swaption V at time T is

;o 2N
V(L T) = VilTsr) = ValT57) = QU= 3 Z(Tst);
k=1

while if 75, > 77, then V (%, T) = 0. Consequently, the payoff of the swaption
is

> Z(T; ty) max(r}, — v, 0). (5.60)

Suppose that at time T, %, has a lognormal distribution with the following
probability density function

Gy = 1 ef[ln(r;/rs)+02(T7t)/2]2/202(T7t)’

Crloy/2n(T — 1)

where rg is the swap rate at time ¢. This model is often referred to as Black’s
model (see [8]). This probability density function is the probability density
function (2.85) with » — Dy = 0. Thus, the expectation of max(r}, — 74, 0) is
e"(T=1) times the price of a call option with 7 — Dy = 0. That is
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E [max(r, — 75e,0)] = 5N <ln(rs/rs;) ;%T — 1) /2)
o (Rl P E0/2),

Therefore at time ¢, the value of the payoff is

Q2N
T)gZZ(T; tk)
k=1

lnr—g—kgz(Tit) lni_a2(T—t)
X |rsN T'se 2 — 1rseN Tse 2
° ovT —t > ovT —1t
2N
DA
k=1
< 2T —t s 2T —t
NI C ) ple o (T=1)
X |rsN Tse 2 —rselN Tse 2
° ovT —t ¢ ovT —1t ’

where Z(t; T) is the discounting factor between ¢ and T" and we have used the
relation Z(t;T) Z(T;tr) = Z(t;t)). European swaptions are frequently valued
in this way. Obviously, it is an approximate method.

We may also evaluate the European swaption by solving bond equations.
As is given by the formula (5.60), the payoff of the swaption is

% Z Z(T;T + k/2) max(rl, — rs, 0).
k=1
At time T, r4(N) is determined by the formula (5.56), i.e., v/ is given by
, 1= Z(I5T + N)
2N :
> Z(T;T+k/2)
k=1

Thus the payoff of the swaption can be rewritten as

2N
ZZ(T T + k/2) max 2

k=1 S Z(T5T + k)2)
k=1

— Z(T;T + N)

Q
2

— Tse 0

:Qmax< Z(TT+N—EZZTT+1<:/2) )
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Let Vio(r,t) denote the value of the swaption. In this case the procedure
of determining swaption price is divided into two steps. The first step is to
determine the value of swap with 7. as the swap rate for all r € [r;,r,],
Vs(r,t;rse, T), where rs. and T are parameters and T denotes the starting
date of the swap, and the second step is to obtain the payoff of swaption and
to find the value of swaption. In order to get Vi(r,t;7s.,T), we need to solve
the following problem

2
”9123%+m—mﬁ$

Q;se 2 (=T —k/2)+Qb(E-T) =0, (541

rn<r<r,, T<t<T+N,

ot 2V g2

_r‘/s

Ve(r, T+ N)=—-Q, 1 <1 <1y
This problem actually is Eq. (5.59) with k* = 0, t* = T, and replacing

f(te tie, the

Ol1+ S (s by L g1)
2

by Qd(t — T) because of the relation (5.54). After we obtain Vi(r,T;rse, T),

we need to get the payoff of the swaption

Vio(r, T) = max (Vs(r, T;7se, T), 0)

S(t — thes1)

and then to solve the following bond equation from ¢t = T to ¢t = 0 in order to
find the value of swaption:
aVvso 1 2 82‘/50 8VSO

ot TaW ge Tl AT

—1Veo=0, 71 <r<mry,
o<t<T,  (562)

Vio(r, T) = max (Vs(r, T; 75, T),0) T <<y,
The value of the swaption today is Vi, (r*,0), where r* is the interest rate
today. For American swaptions we can use a similar treatment to find their
prices.

5.5.3 Interest Rate Caps, Floors, and Collars

An interest rate cap is a contract whose holder will receive some money from
the issuer if the floating rate exceeds a certain level r., where r. is called
the cap rate. Therefore, interest rate caps can be used to provide insurance
against the rate of interest on a floating-rate loan rising above a certain level.

For example, someone is going to get an N-year floating-rate loan with a
principal amount @ at time ¢*. The borrower will pay interest quarterly at
time

r=t"+k/4, k=12--- 4N.



308 5 Interest Rate Derivative Securities

The rate is a 3-month LIBOR determined at time ¢5_; for the period [tx_1, tg],
where we define tg = t*. The LIBOR is a forward interest rate. According to
the notation given in Sect.5.1, f(tx_1,t,_1,t%) stands for this rate. In what
follows, we use the notation fj,_; instead of f(tx_1,tr_1,) for brevity. The
borrower is worrying that he will pay too much interest if the 3-month LIBOR
becomes very high during the period [t*,¢* + N]. Therefore, he is interested in
such a cap: it starts from ¢* and lasts N years, and at time ¢y, the issuer of the
cap will pay the holder an amount of cash Q max(f_1 — 7.,0)/4. Suppose he
purchases this cap. Then when f,_1 < 7., he will pay interest payment on the
loan @ fy_1/4 and receive zero from the issuer of the cap; whereas f_1 > 7.,
his actual payment is Qr./4 because he receives Q max(fy_1 — r¢,0)/4 from
the cap. Hence the cap provides insurance against the interest rate on the
floating-rate loan rising above an upper bound r..

How much should be paid in order to obtain such an insurance? The
present value of the payment Q max(fx_1 — 7.,0)/4 at time ¢, is actually the
value of a call option with expiry t;. This call option is usually called the kth
caplet. The LIBOR fk—1 is a forward rate determined at time t;_; for the
period [t_1,t], so an amount Q max(fy_1 — 7c,0)/4 at time ¢, is equivalent
to the amount

Q f, f—
A0+ for/d) max(fr—1 — 7e,0) = max (Q -Q

at time t;_1. A loan with a face value Q (1 + r./4) and maturity ¢; is worth
Q1 +7./4)/(1+ fr_1/4) at time ¢, for any fi_1. Therefore, a caplet with
a payoff Q max(fy_1 — 7., 0)/4 at time ¢, is equivalent to a put option with
maturity ¢;_; and a strike price @) on a zero-coupon bond with maturity ¢; and
a face value @ (1 4 r./4). At time t*(= (), the value of the first caplet is equal

1+4r./4 O)
14 fo_1/4

to a known value m max(fy — 7c,0). Usually, this value is excluded
from the premium and there is no payment at time ¢; even if the LIBOR is
greater than r.. Thus, a cap comprises 4N — 1 put options on zero-coupon
bonds. Because a bond or an option on a bond can be seen as a derivative on
the short rate r, their values can be calculated by the bond equation. Let the
value of the bond with maturity ¢ be Vir(r,t). Then, Vi (r, t) is the solution
of the problem

AT 5 0?Vi, OV

ar TaWge T AT

—1Vie =0, 1 <71 <1y,

thor <t <ty (5:63)

Vi (rti) = (1+7./4) Q, 7 <1<y,
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where k =2,3,--- [4N. Let V.(r,t) be the solution of the problem

v, 1 ,0°V. av,
ot oW g TG e
4N
+ > max(Q — Vir(r, tr—1),0)5(t — t—1) = 0, (5.64)
k=2
<71 <1y, <t <ty
‘/C(,r7 t4N—1) =0, r <71 <71y

Then, V,(r,t*) gives the value of the cap — the total value of the 4N — 1 put
options at time t* and the premium of the cap is given by

Ve(r®,t"),

where 7* is the short rate at time ¢*.

There are some other derivatives analogous to interest rate caps, such as
interest rate floors and collars. A holder of a floor will receive some money
from the issuer if the floating rate is below a certain level 7, which is called
the floor rate. If a borrower of a floating-rate loan believes that the floating
rate will never be less than the lower bound 7¢, then he may want to write
such a floor. This is because he will get some money from writing a floor but,
according to his opinion, he will not actually pay any money to the holder
of the floor. Therefore, he hopes that he can reduce his expenses on the loan
through writing a floor. If we assume that the floor starts at ¢t* and lasts N
years, that the floating rate is 3-month LIBOR, and that the money will be
paid quarterly at time t, k = 2,3,--- 4N, then the value of the floor is the
sum of 4N — 1 floorlets that are call options on zero-coupon bonds. In order
to determine the premium, we can first solve the problem

oV 1 0%V, 19)%
azk + §w2 8r§k + (u— /\w)a—:k — 1V =0, rm<r<r,,
th—1 <t < tg,
Vr(r,te) = (1 +717/4) Q, e <r <y,

and get Vi (7, tx—1). Based on Vi (7, ti—1), we then can determine the solution
of the problem

A% 1 0%V
A AT f

+ (u— /\w)% —rVy

ot 2 Or2
AN
+ > max (Vg (r, te—1) — Q,0)8(t — ty—1) = 0,
k=2

rp <1<y, 7St <tyyog,

Vf(’ratllN—l):Ov T Srgru



310 5 Interest Rate Derivative Securities

and the value Vi (r*,t*) gives the premium of the floor. The derivation of this
conclusion is left for readers as Problem 17.

A collar specifies both the upper bound 7. and the lower bound r;. It
may be understood as a combination of a long position in a cap with a short
position in a floor. The value of a collar V., is

Voo = Ve — V7.

Usually, we choose r. and 7y such that
Ve=Vy or V,=0.

It is clear that a portfolio of a collar and the original floating-rate loan is
equivalent to a new loan with a floating rate in [r,rs]. If

Te =Tf,

then the collar actually becomes a swap based on 3-month LIBOR and with
4N — 1 exchanges of payments. There exist other interest rate derivatives
such as captions and floortions. Their evaluations are similar to what we have
discussed.

5.6 Multi-Factor Interest Rate Models

5.6.1 Brief Description of Several Multi-Factor
Interest Rate Models

Sometimes, it is necessary to assume that interest rate derivatives depend
on not only the short rate r, but also some other random state variables.
Because volatility is always a dominant factor in determining the prices of
bonds and options, we need to have a more accurate model for volatility. It
may be necessary to consider the interest rate volatility as a random variable.
Fong and Vasicek [30] proposed such a two-factor model. In their model, they
postulated that both the short rate r and the variance v of the short rate are
stochastic state variables and assumed

dr = (i — yr)dt + JvdX,
dv = (v —nu)dt + &/vd X,
E[dXdX,] = pdt,

where [i,7v,v,n,£ are constants and dX and dX, are two standard Wiener
processes. As we can see in this model, the stochastic equation for r is the
same as that in the Vasicek model, and r could become negative. Here, not
only the short rate but also the variance possess the mean reversion property.
In this case, Eq. (2.34) can be written as
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814_1 82l+ f 82V+1£2 627‘/_'_(*_ _;\)87‘/
ot 2%z TP a0 T2 Ve TW T T A,

—i—[u—(n—i—;\uf)v]%—ﬂ/:Q

where the market prices of risk for » and v are A\\/v and \,+/v, respectively,
X and ), being constants.

Brenman and Schwartz [13] considered another two-factor model. In their
model, the two random state variables are the short-term interest rate r and
the long-term interest rate [. They assumed

dr = u(r,l,t)dt + w(r,l,t)dX,
dl = wi(r, 1, t)dt + wy(r, 1, t)d Xy,

E[dXdX;] = p(r, 1, t)dt,
where dX and dX; are the standard Wiener processes. According to Eq. (2.34),
any derivative dependent on r and [ should satisfy
vV 1 ,0*V 0’V 1 ,0°V

ot 2V o TP T o

For other models, for example, see [2, 19, 57]. From these models, we
can have the corresponding partial differential equations. Any reader who is
interested in knowing more about these models and other models is suggested
to consult these papers and the book [47] by James and Webber.

In order to use these models to price derivatives, we need to determine
these market prices of risk, which is similar to what we have done for one-
factor models. Also, if we make some modifications on these models so that
some conditions similar to the conditions (5.45) and (5.46) hold, then unique
solutions of these equations can be obtained only by requiring final conditions.

Not only can the interest rates and their variances be taken as state vari-
ables. Heath et al. [38, 39, 40] suggested a model where the driving state
variable of the model is F'(¢t,T), the forward rate at time ¢ for instantaneous
borrowing at a later time T'. They assume

ov ov
—l—(u—/\w)a%-(ul—)\lwl)ﬁ—rv =0.

dF(t,T) = a,(t, T)dt + Y oh(t, T)dX;,
i=1
where dX; is the ¢th Wiener process, and the n Wiener processes are inde-
pendent. In this sense, it can be called a multi-factor model. Jarrow wrote a
monograph on this method in 1996 (see [48]). Any reader who wants to know
its details is referred to that book.

5.6.2 Reducing the Randomness of a Zero-Coupon
Bond Curve to That of a Few Zero-Coupon Bonds

As we know, if we have an effective way to describe the randomness of a
zero-coupon bond curve, then we can have an effective model for interest rate
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derivatives such as bond options or swaptions. In this and the next subsections,
we discuss a three-factor model, which can be easily used in practice and
generalized to the cases with more factors without any difficulty.

As we have done in Sect. 5.1, let Z(¢;¢ + T') denote the price of a T-year
zero-coupon bond with a face value of one dollar at time ¢, and we use the
notation Z;(t) = Z(t;t+T;) for any T;, i = 0,1,--- | N. Here, we also assume
T, < Tj41, for @ = 0,1,--- N — 1, and Ty = 0. According to Z;(t),i =
0,1,---, N, we can have an interpolation function Z(T';t) for T' € [0,Ty] by
requiring Z(T';t) to be a continuous function with continuous first and second
derivatives in the form:

a0 +ai T+ as 17, 0<T <1y,

a0, + a1, T+ ax;T? +as,; T%, T,_1 <T <T,

ao,n + al,NT + a2,NT2» T <T <Ty.

In this function, there are 4(N —2)4+6 = 4N — 2 coefficients. Because we have
N + 1 conditions on the value of the function

Z(Tiit) = Zi(t), i=0,1,---,N

and 3(N —1) continuity conditions on the function, first and second derivatives
at Ty, 15, -+ ,Tx_,, the total number of conditions is also 4N — 2. Therefore,
it is possible that those coefficients in the expression (5.65) can be determined
by these conditions uniquely. This interpolation method is called a cubic spline
interpolation, and the way of determining the coefficients in the expression
(5.65) will be given in Sect.6.1.1. A zero-coupon bond curve is a monotone
function with respect to T'. If for a set of Z;(¢), i =0,1,--- , N, the expression
(5.65) does not possess this property, the approximation needs to be modified
so that the monotonicity is guaranteed. This is important in practice.

We assume that Z(T';t) is a very good approximation to the zero-coupon
bond curve Z(t;t + T). In this way, a random curve is reduced to N random
variables with a small error.

Now let us reduce the number of random variables from N to K by the
principal component analysis. Suppose that we have N random variables

and the covariance between S; and S is

COV[SiSj] = bibjpi,j, i,j=12,--- N,
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where —1 < p; ; = p;; <1 and p;; = 1. Let

a1

9 @2 )

c¢; and a; = . , i=1,2,---,N,
a; N

be the eigenvalues and unit eigenvectors of the covariance matrix

b bibapio - bibypiy
525102,1 b% beN/)2,N

bNble,l bNb2PN,2 b?\;
That is, there is the following relation:
BA"=A"C or ABA" =C,

where A” is the transpose of A and

2
a’l,l a172 “e. al,N Cl 0 e O
2
ag,l g2+ A2 N 0 Cy v 0
= s C =
00 ---¢2
An,1 AN 2 an. N Cn

Here A is an orthogonal matrix, i.e., AA” = I because B is a symmetric
matrix.

Let S1,S2,---, Sy be N other random variables defined by

5?1 Si
Sy So
L =A
Sw Sy

For simplicity, this relation can be written as

where

0]
I
w0
I
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Then

(St ris0) (St

Z a;paj; Cov [SkSi]

=11=1
0, ©# ],

2 .
ci, i =7j.

I
] =

That is, C is the covariance matrix of the random vector S. We furthermore
suppose that

> for i<j

and
cd<ct, i=K+1,---,N.

Assume that on some day

S
S = 5:2 =S
s
and B
Si S
s-a| 7|7 28
si| |5
Because ¢7,i = K +1,-+- , N are very small, for a period starting from that

day, we neglect the uncertainty caused by the last N — K components of S.
That is, we assume that in this period S has the following form:

0,1
I
|
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where Sy, -+, S, can take all possible values. In this case
5T
S—Ar| S« (5.66)
SK+1
L S
Under this assumption, among 51,55, -+ ,Sy, only K components are
independent. Suppose
ai,1 a21 *°° Ag;
12 22 *** Qg2
#0.
a1,k 02 ' Or K
Then, we can choose S1, S5, -+, Sk as independent components. Rewrite Eq.
(5.66) as
S1 ] [ S ] (S5
| =ar] | war| |
Sk | | Sk | | Sy
SK+1 ] i 511 i _S;+1 ]
Dol = A L TAL] |
Sy | Sk | | Sh ]
where
_0}1,1 . a:K)1 aK+111 cen a/N11
Aj = , Ay = ;
L1,k " Ok Kk Ogt1,x """ AN K
_al,K+1 ot AR K41 A i1,k41 """ AN K41
Az=| ¢ 1|, ALS
L @1,n ' Qk.nN Ai1,N an N
Then, for Sk y,---, Sy, we have
SK+1 Sl 5;+1
L =AT@AD T | | AT
Sy Sk S
S;«Fl
+A7 (5.67)
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Thus, for given Si,---,Sk, using the relation (5.67) we can get all other
components of a vector S. Consequently, the relation (5.67) defines a class
of vectors with K parameters. That is, by the relation (5.67), we actually
determine a class of S, where only S1,--- , Sk are independent. Here, we take
S1,- -, Sk as independent components. However, it is also possible to choose
other K components as independent components.

Letting S; = Z;/T;, i = 1,2,--- , N, by the principal component analysis
described above, we can find a class of vectors [Z1/Th, -, Zx/Ty]" with K
parameters® and using the cubic spline interpolation given at the beginning
of this subsection, we can further determine the curve Z(T';t) for T € [0, Ty].
From the books by Jarrow [48], Hull [43], James and Webber [47], and Wilmott
[83], we know that K usually is equal to three or four for the random curves
related to interest rates. Thus, all the curves determined by the relation (5.67)
form a class of curves with three or four parameters. The zero-coupon bond
curve at that day is one of such curves, and the projections of any vector S
determined by the relation (5.67) on the eigenvectors corresponding to the
eigenvalues ¢y, - ,cy are the same as those of S*. Those projections are
different for different S*, so this is a feature belonging to S*. It is clear that the
class of curves with such a feature needs to be considered most for derivative-
pricing problems. Hence, when K = 3 or 4, the class contains all possible and
need-to-be-considered-most zero-coupon bond curves. As soon as we have a
zero-coupon bond curve, we can determine various interest rates at ¢, including

the short rate r(Zy,--+, Zx,t) at time ¢. For example, for r(Zy, -, Zyx,t),
we have OZ(T:1)
Tt
Zi,o Ly, t) = — —12 . .
7'( 1 y LKy ) aT o (5 68)

5.6.3 A Three-Factor Interest Rate Model and the Equation
for Interest Rate Derivatives

Suppose 71, Z5 and Z3 are prices of zero-coupon bonds with maturities 77, 15,
and Tj, respectively. Assume T} < Ty < T3, which implies the relations 1 >
Zy > Zy > Zs. Furthermore, we assume Zy > 2y, Za > Za; and Z3 > Z3,
where 7, > Zy; > Z3; > 0. Z1, Zy and Z3 are random variables and satisfy
the system of stochastic differential equations:

dZ; = pi (Z1, Z2, Z3,t) dt + 04 (Z1, Z2, Z3,t) dX;, i=1,2,3

on the domain 2: {71, < 7, <1, Zy; < Zy < Zy, Z3; < Z3 < Zy}. dX; are
the Wiener processes and E[dX;dX;] = p; jdt with —1 < p;; < 1. The
coefficients pu;, o; and their first- and second-order derivatives are assumed
to be bounded on the domain (2. On the six boundaries of 2, the following
conditions hold:

41f the conditions Z; > Ziy1, i = 0,1,---N — 1 are not satisfied, then some
modification needs to be done in order to guarantee the monotonicity.
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(l) Ol’l surface IZ {Zl = Zl,la ZQJ § Zz S Zl, Zg,l § Z3 S ZQ},

M1 (Zl,laZQ; Z37t) 2 07

(5.69)
01 (21,1, 22, Z3,t) = 0;
(11) On surface II: {Zl = 1, ZQJ S Z2 S Zl, ZgJ S Zg S ZQ},
M1 (17ZQa Z37t) S 07
(5.70)
g1 (1; 227 Z-?nt) = 07
(i) On swrface IL: {Z1; < Z1 <1, Zy = Zyy, Z3; < Z3 < Zs},
p2 (Z1, Zay, Z3,t) > 0,
(5.71)
02 (21,22, Z3,t) = 0;
(iV) On surface IV: {Zl,l S Z1 S 1, Z2 == Zl, Zg’l S Z3 S ZQ},
—H1 (Zh Zla ZSat) + 125 (Zla Zlv Z37t) S 07
(5.72)
01(Z1, 21, Z3,t) = 02 (21,21, Z3,1) , pr2(Z1, 21, Z3,1) = 15
(V) On surface V: {Zl,l S Zl S 1, ZQJ S Z2 S Zl, Zg = Zg’l},
w3 (Z1, Z2, Z3,,t) > 0,
(5.73)
03 (21, Za, Z3,1,t) = 0;
(VI) On surface VI: {Zl,l < Z1 < 1, ZQJ < ZQ < Zl, Zg = Zg},
—pi2 (Z1, Za, Zayt) + pz (21, Za, Za,t) <0,
(5.74)

02 (21, 2, Zy,t) = 03 (21, Za, Zast), p2,3(Z1, 22, Zo,t) = 1.

This model will be called the three-factor interest rate model in this book.

As you can see, conditions (5.69)—(5.71) and (5.73) have the same form
as the condition (5.45) or the condition (5.46), and the conditions (5.72)
and (5.74) are in a similar form. They are the weak-form reversion condi-
tions on the non-rectangular domain (2. In order to guarantee that if a point
is in {2 at time t*, then the point is still in 2 at ¢ = t* + dt for a positive dt,
it is necessary to require that

nlel + TLQdZQ + ngdZ3 S 0 (575)

holds at any point on the boundary of the domain (2, where ni, no, and nj
are the three components of the outer normal vector of the boundary at the
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Zy

IV: N = [-1,1]

IL: N = [1,0]

LN =[-1,0"

C LN = [0, 17

0 701 1 Z

Fig. 5.3. Projection of the domain (2 on the (Z1, Z2)-plane

point. This is called the weak-form reversion conditions on a general domain.
The condition of the condition (5.75) holding at every point on the boundary
of the domain 2 is equivalent to the conditions (5.69)—(5.74). For example, on
surface I (see Fig.5.3), ny = —1, np = 0 and ng = 0, so the condition (5.75)
can be written as

nidZ + nodZs +nsdZs = —dZ; = —/.t1dt —o01dX; <0.

This holds if and only if o1 = 0 and pu; > 0. On surface IV, ny = —1, no = 1,
and ng = 0 (see Fig.5.3). In this case the condition (5.75) can be written as

n1d21 + TLQdZQ + n3d23 = —le + dZQ

7,[141dt + ugdt — CTlXm + 0'2ng
(—Ml + ,ug)dt + 012d X2 < 0,

where we define
012dX12 = —0’1Xm + O'QdXQ

and dXi, is another Wiener process. Using [t6’s lemma, we know

O19 = \/af —2p1,20102 + 05.
Thus in this case the condition (5.75) holds if and only if
—pu1+p2 <0 and o012 =0.
o012 = 0 is equivalent to

O’% — 2[)1120'10'2 —+ O'% = (01 — 02)2 -+ 2(1 — p1’2)010'2 = 0
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or

opr =02 and pip=1.

Thus in this case the condition (5.75) is equivalent to —uy + o < 0, 01 = 09,
and p1 2 = 1. If the derivatives of 0;(Z1, Za, Z3,t) with respect to Z;, Zs, and
Zs are bounded, then it is expected that the condition (5.75) or the conditions
(5.69)—(5.74) guarantee that a point (71, Z2, Z3) will never move from inside
of the domain {2 to its outside. This is a natural property of a stochastic
model for interest rates when Z; ;, Z>; and Z3; are given properly.

Let V(Z1,Z5,Z3,t) be the value of a derivative security depending on
Z1,Z2, Z3,t. According to Sect.2.3.2, V(Z1, Za, Z3,t) should satisfy

) R o2V oV
87 §ZZ U]pz,]azaz +7r ZZBZ TVZO

As we pointed out in Sect. 2.3, in this case in the PDE there is no market
price of risk, or because zero-coupon bonds can be traded on the market, the
market prices of risk for these bonds can be determined by the relation (2.36)
with DOi =0:

,llli(Zla ZQ) ngt) - )\i(Zla Z27 Z37t)gi(Zl7 Z27 Z3at) = T(Zla 227 Z37t)Zi7

i=1,2,3.
Let
0 9
L3, = ;;azajpw 9207, ZZ 57, - (5.76)
The equation above can be written as
aa—‘t/ + L3,V =0.

For a derivative security, at the maturity date T, its price should be equal
to its payoff Vi.(Z1, Za, Z3). Therefore, any European interest rate derivatives
under this model should be solutions of the problem

1917
— +L3,V=0 on 2x]0,T],
ot 0.7] (5.77)

V(Zl7Z2, Zg,T) = VT(Zl,ZQ, Zg) on .Q

Introduce the following transformation:

1= 7y
51 - )
1—-24,
L=y
52 - Zl _ Zgyl, (578)
 Z3— 23
3= 5—7-—.
Zy — 23
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Through this transformation, the domain (2 in the (Z1, Z, Z3)-space is trans-
formed into the domain £2: [0, 1] x[0,1] X [0, 1] in the (&1, &2, &3)-space. Because

0&, 1
07y 1-Ziy
9 & 08 1
82, Zi—Zs) 02y 71— Zay
06 =& 0 1
07y Zo—Zsy 025  Zs—Zsi
we have
ov 1 v & OV
071 1—721,06& 71— Zoy 0&’
oVl 9V & OV
0Zy  Zi— 22106 Zo — Zsy 0&3
v 1 v
0Zs — Zy — 73, 0&’
o’V 1 0V 26, 92V
023~ (1—21,)° 08 (1= Z11) (Z1 — Zay) 06106,
g v 2%, OV
+ 3 a2 T YR
(Z) — Z3)? 085 (Z1 — Z2,1)? 0&2
V1V 2%s 92V
073 (Z1- Zy1)” 083 (21— Z2))(Zo — Z3y) 062063
£ v 25 oV
+ T 2 T a5
(Zo — Z3,)? 085 (Z2— Z5,)% 083
eV 1 PV
0z3 (Zy — Z37z)2 o9&’
R S ( 1V g a2v>
07,075 (Zy — Z27l)2 06  Zy—Zoy \1— 21,0608 Zi—Zyy 655
53 1 0*V 52 0V
7y~ Zs, (1 — 7110608 7y — Zay a@@) ’
o*v. 1 1 92V & 92V
07,025 Zs — Z3 (1 — 71, 061083 7 - Za 5525'53) ’
v -1 oV 1 1oV & OV
025075 (Zo— Z3y)? 37534— Zo — Z3 <Z1 — Z1 06065 Zo — Zs 3§§> .

Therefore, the operator Ls, defined by the expression (5.76) can be rewritten
as
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L 1~282+1~282+1~262
= —071 ——= —_ —_— - -y
375792 T 2729 T 273 9e2

o 2 L 82 L 82
+0'102pl,2m + 0103/)1,3% + 0203p2,3m
0 0 0
bi— +bo— +b3— —, 5.79
+18§1+ 23§2+ % 0¢; " (5:79)
where
15-% — %0% ,
2 1—Zy)°
1, 3 (01€ — 201026012+ 03)
—05 = 5 , (5.80)
2 (Z1 — Z2y)
1_, 5 (0385 —2090383p23 +03)
~52 = & 7
2 (Zy — Z3)
~ o~ o~ g1 (0201,2 - 0152)
g10: - )
T2 (Z— Zay)
o o1 (03p1,3 — 02p1,283)
010 = : : , 5.81
VP = 7, ) (2 D) (5:81)
Gobafns = 0182 (02p1,283 — 03p1,3) + 02 (03p2,3 — 02&3)
208023 (Z1 — Z2y) (Z2 — Z3)) ’
and
’I"Zl
b p—
1 1— Zlyl’
by = 7 (Zy — Z1&2) | o1 (0162 — 02p21,2), (5.82)
Zy — Zay (Zy — Z3)
by = (Z3 — Z5&3) | 02(0283 — 03p2,3)
Z2 - ZS,Z (ZQ — Z3’l)2 '
Consequently, the problem (5.77) can be rewritten as
°1% ~
— + L3V =0 on{x][0,T],
ot (5.83)

V(£1,62,63,T) = Vi (Z1(&1), Z2(61,€2), Z3(61, 62, €3))  on L2,
where Ly is defined by Eq. (5.79) and
Z1 (&) =Zu+& (- 21y),
Z3(§1,62) = Zog + & [Z1y + & (1= Z13) — Z24],

Z3(&1,82,83) = Z31 + &{Zoy + & [ 21+ 6 (1 — Z1y) — Zog] — Zs,1} -
(5.84)
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This is a final-value problem on a rectangular domain. Thus, when the three-
factor interest rate model is used, evaluating an interest rate derivative is
reduced to solving a final-value problem on a rectangular domain.

We would like to point out the relations among 61, &2, 03, p1,2, p1,3, P2.3
and d€1, d&s, dés. Using It0’s lemma, from the definitions of &1, &2, £3, we can
have

déy = findt + 61dX1, dés = fiadt + G2d X, dEs = fisdt + G5d X3,
where dX'g and dX 3 are two new Wiener processes. Therefore
62 = Varld&]/dt, j=1,2,3.
It can also be shown that
Cov]dXdX,]/dt = p1a, CovldX,dX3]/dt = p13

and o
COV[dXQdXd]/dt = p~2’3.

These are left for readers to prove as Problem 24.
From Eq.(5.80), it is easy to see that the equality conditions in
the conditions (5.69)—(5.74) can be rewritten as

5—1(075%53,15) = 5—1(17527533t) = 07 0 S 52 S ]-7 0 S 53 S ]-7
&2(§1a07€37t)

&3(51762507t) = 63(£I7£2a 17t) = Oa 0 S é-l S 17 0 S €2 S 1.

&2(51717§3at) 207 0§€1 S 17 0§€3 S 17 (585)

Therefore, in order for the equality conditions in the conditions (5.69)—(5.74)
to hold, we just require that the volatilities of d¢;, d€s2, and d¢s satisfy the con-
dition (5.85), which is easier to be implemented than the equality conditions
in the conditions (5.69)—(5.74). Suppose that &1, 62, &3, p1,2, 1,3, and Py 3 are
given functions. In this case, in order to be able to use the expressions of by,
by, and bs conveniently, we express o1 (0162 — 02p1,2) and o3 (0283 — 03p2.3)
in the expressions of by and b3 in terms of &1, &2, 03, p1,2, p1,3, and pa 3.
From the expression (5.81) we have

G102p1,2 (1 — Z1)) (Z1 — Zay) = 01 (02p1,2 — 01&2) ,
G103p1,3 (1 — Z1,) (Z2 — Z3y) = 01 (03p1,3 — 02p1,283) ,
G203p2,3 (21 — Zay) (4o — Z3,) = 0162 (02p1,263 — 03p1,3)
+02 (03p2,3 — 0283),
and from the second and third relations we further obtain

02 (03p2,3 — 0283) = 610301352 (1 — Z1,1) (Z2 — Z3,)
+6963p2,3 (Z1 — Z21) (Z2 — Z3)) .
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Therefore, the expressions of by, by and b3 can be rewritten as

by = rZy 7
1-71,
by = r(Zs— 21&) 5162012 (1 — Zl,l),
VARSAY ARSAY (5.56)
by = (Zs — Z2&3)  0103p1,36 (1 — Z14)
Zy — Zs Zy — Zs
 0203p2,3(Z1 — Z2,1)

Loy — Zs

By this relation, we can easily calculate by, bo, and b3 when the values of &1,
G2, 03, P12, 1,3, and po 3 are given. Because of the condition (5.85) and r =0
for Z; =1 [see the expression (5.68)], we can easily show

b1(07§27£37t) > 07 b1(17£2a§33t) = 07 0 < 52 < 17 0 < 53 < 17
b2(€1507£37t)207 b2(£171a§3at>207 ngl Sla O§§3§17
b3(£1;£2707t)207 b3(§17§2713t):07 nglél, 0§§2§1

It can be proved that when these inequalities and the condition (5.85) hold, the
problem (5.83) has a unique solution (see [91]). Thus the problem (5.83) can
be solved by numerical methods without any difficulty. In this subsection, the
PDE in the problem (5.83) is derived through two steps: first it is obtained
from the result given in Sect. 2.3.2 and then a new equation is gotten by means
of a transformation. Actually this equation can be obtained directly by setting
a portfolio and using It6’s lemma just like what we did in Sect. 2.3.4 for two-
factor case. Readers are asked to derive the PDE in the problem (5.83) in this
way as Problem 25.

Finally, we say a few words about how to use this model to evaluate interest
rate derivatives. First, we need to choose 71, Z>, and Z3 and find &1, G2, 03
satisfying conditions (5.85), and fp1,2, p1,3, p2,3. Finding these functions can
be done from the data on markets by statistics. After that, the problem (5.83)
needs to be solved. Let ¢t = 0 denote today, and suppose the derivative security
is European style. On the maturity date T, for each point (£1,&2,&3) in 2, we
can have Z;,Z5, and Z3 by the relation (5.84). Then, we determine a zero-
coupon bond curve by using the method given in Sect. 5.6.2. When we obtain
such a curve, the value of the payoff and r for the point can be determined.
This can be done for all points (&1, &2, &3) in the domain £2 for ¢ = T. When we
have the final value and all the coefficients of the partial differential equation
in the problem (5.83), we can solve the final-value problem (5.83) from ¢t =T
to t = 0 and get the value of the derivative security today for all the points
in 0.

For American-style derivatives, the situation is similar. The only difference
is that the value of derivative must be greater than the constraint. Because
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the value of the constraint can be obtained by the zero-coupon bond curves
at all points in £2 x [0, T, the value of an American-style derivative can be de-
termined without any difficulty. However, free boundaries will usually appear
in this case.

From what we have described, we see that this model has the following
features:

e The state variables are prices of three zero-coupon bonds with different
maturities that can be traded on markets, so the coefficients of the first
derivatives with respect to the bond prices Z; in the partial differential
equation simply are rZ;.

e The volatilities of these zero-coupon bonds and their correlation coeffi-
cients can be found directly from the real markets by statistics, so the
model will have the real major feature of the markets.

e All the zero-coupon bond curves having appeared in the real market can
be reproduced quite accurately. This is the basis of a model giving correct
results. If taking three random variables is not good enough, four-factor
models can be adopted. Generalizing three-factor models to four-factor
models is straightforward.

e In other models, the partial differential equation is defined on an infinite
domain. For this model, the corresponding partial differential equation is
defined on a finite domain. It has been proved that no boundary condition
is needed in order for its final-value problem to have a unique solution.
Thus, it is not difficult to design correct and efficient numerical methods
to price interest rate derivatives.

For the details on how to determine models from the market data and
how to solve the final-value problem of the partial differential equation, see
Sect. 10.3 and [96]. There, some numerical results are also given.

5.7 Two-Factor Convertible Bonds

Until now, we discussed derivatives depending on either equities or interest
rates. This section deals with a derivative dependent on both equity prices
and interest rates. This derivative security is a bond that may, at any time
chosen by the holder, be converted into n shares of stocks of the company
who issues the bond. Such a bond is commonly known as a convertible bond.
As a bond, its price depends on the short rate r. It can be exchanged for n
shares of stocks, so its value is also a function of the stock price S. Because its
typical life span is about 3-10 years, both .S and r are considered as random
state variables. Therefore, this bond is called a two-factor convertible bond.
In this section, we discuss how to price such a bond.

Consider a bond issued by a company and its payoff depends not only on
r but also on the price of the stock of the company. In this case the value of
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this bond depends on both r and S. Let B(S,r,t) be the value of such a bond.
As usual, we assume that S is governed by

dS = u(S,t)Sdt + o(S,t)SdX;, 0<S (5.87)
and the interest rate by
dr = u(r,t)dt + w(r, t)dXs, 1 <1 <71y, (5.88)

where dX; and dX5 are different Wiener processes though they can be corre-
lated. Suppose that
E [dX1dXs] = pdt,

where p is a constant belonging to [—1, 1] and for S and r, p usually is a
negative number. According to Sect. 2.3, such a derivative satisfies

%—quLS,rBJrkZ:O, 0<S, m<r<r, 0<t<T, (5.89)
where
1 50 02 02 1 5 0? 0 0
Lsr7205852+p05w858r+2w 6r2+(T DO)SaSJr(u )\w)ar T

Here, Dy is the dividend yield a holder of the stock receives per unit time,
and kZ is the coupon payment a holder of the bond receives per unit time,
Z being the face value of the bond. X is the market price of risk for the short
rate. T' is the maturity date of the bond.

We assume that at maturity time 7', the holder of the bond can choose to
get the face value Z or n shares of stocks. Therefore, the payoff is

B(S,r,T) =max(Z,nS), 0<S, r <r<r,. (5.90)

This is the final condition for this bond. We assume that for the interest rate,
the conditions (5.45) and (5.46) hold, i.e.,

(r £) = wlr, )5 1) 2 0,
w(ry,t) =0,

and

{uvmw—wvmwngmw<&

w(ry,t) = 0.
5 0
Because w*(r,t) > 0 and w(r;, t) = 0, on [ry, 7] we conclude w(ry, t)a—w(rl, t)
r
10 0
= ——w?(r;,t) > 0. Similarly, w(ry,t)=—w(ry,t) < 0. Therefore, the condi-

2 0r
tions above can be rewritten as

or
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0
{’U,(?"l,t) 2 /lé)}(rlat)aw(rla t) Z Oa

w(ry,t) =0,

<
arw(ru7 t) <0,

{u(ru,t) < w(ry,t)
w(ry,t) = 0.

Because of w(r,t) = 0, Eq. (5.89) at r = r; degenerates into

2

aa—? + %UQSQgTB; + (T—Do)Sg—g —l—u% —rB+kZ =0.
This equation has hyperbolic properties in the r-direction. Thus, if u(r;, t) > 0,
then the value B(S,r;,t) is determined by the value B(S,r,t) in the do-
main [0,00) X [ry, 7] X [t,T] and no extra boundary condition at r = r; is
needed. Similarly, no boundary condition should be required at r = r, be-
cause u(ry,t) <0 and w(r,,t) = 0. At S =0, Eq. (5.89) becomes

0B | 1,08

0B
5‘1’210 87“2 +(U*)\w)77TB+k’Z—O.

or
This is the bond equation, and the value B(0,r,t) is determined by this equa-
tion and the final condition at S = 0. Just like the Black—Scholes equation,
there is no need for specifying a condition as S — oo. Therefore, if the condi-
tions (5.45) and (5.46) hold, then we could expect that the problem

0B

— +Ls.B+kZ =0, 0<S, rm<r<r, 0<t<T,
ot (5.91)

B(S,r,T) =max(Z,nS), 0<S, r<r<r,

has a unique solution. If gw(rl, t) and 2w(ru, t) are bounded, which usually
r

is true, then the uniqueness of solution of the problem (5.91) can be obtained
from the results given in the paper by Zhu and Li (see [94]).

If this bond can be exchanged for n shares of stocks at any time, then this
bond is called a convertible bond and let us denote its value by B.(S,r,t). It
is clear that the value B.(S,r,t) must satisfy the following constraint

B.(S,rt)>nS, 0<S, 0<t<T. (5.92)

This condition is called the constraint on convertible bonds. Sometimes, the
solution of the problem (5.91) satisfies the constraint (5.92), so the problem
(5.91) determines the solution of a convertible bond. For example, if Dy = 0,
then the problem (5.91) gives the price of a convertible bond, which will be
explained later. If

Dy >0,

then the price of a convertible bond should be the solution of the following
linear complementarity problem on the domain [0, 00) X [ry, 7] % [0,T]:
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ot
B.(S,r,T) = max(Z,nS) > nS.

B
min <—8 ¢ —Lg,B. — kZ, B.(S,r,t) — nS> =0,

Let us reformulate this problem as a free-boundary problem if Dy > 0. We
cannot directly apply Theorem 3.1 in Sect. 3.1 to this case because there are
two major differences between the problem in the theorem and the prob-
lem here. Here, the operator Lg, is two-dimensional and there is a nonho-
mogeneous term kZ. However, the main idea is still true. For S < Z/n,
B.(S,r,T) = Z > nS. Therefore, on [0, Z/n), B.(S,r, T — At) must be greater
than nS if At is small enough, and no free boundary can appear in that re-
gion at time T. Now let us check the region (Z/n,o0). In this case, we need
to check where

(gt + Ls,r> nS+kZ>0
and where

((‘?t + LSm) nS + kZ < 0.
Because

(68'15 + Ls,r) nS+kZ = (r— Do)nS —rnS+kZ

=kZ — DonS,
when S > Z/n and S > kZ/Dyn, namely, S > max(Z/n,kZ/Don),

0
(at +Ls,r) nS +kZ <0

and the solution is n.S. Otherwise, we can use the partial differential equation
to determine the solution. Therefore, there is a free boundary starting at
S = max(Z/n,kZ/Don) and t = T. Let S¢(r,t) be the location of the free
boundary, then

7z kZ
S¢(r,T) = e <r <7y, 5.93
r(r,T) max(n,D0n>, m<r<r (5.93)
We assume that there is only one free boundary. From numerical solutions, we
know that it is true at least for some cases. Thus, when Dy > 0, the domain
[0,00) X [r1, 7] % [0,T] in (S, 7, t)-space is divided into subdomains

I:00,Sf(r,t)] x [ry,ry] x [0,T]
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and
IT:(Sf(r,t),00) x [ry,ry] % [0,T7].

The free boundary is between them. At the free boundary, the solution and
its derivatives are continuous. In the subdomain II where B, = nS,

oB. _
25

and
0B,

or

Thus, it seems that in the subdomain I where the partial differential equation
is used, we need to require

B, (Sy(r,t),r,t) =nSp(r,t), rn<r<r, 0<t<T, (5.94)
0B,
55 (Or(nt)rt) =mn, r < r <y, 0<t<T, (5.95)
and 5B
gy (Sr(rit),r.1) =0, r <1< Ty, 0<t<T

on the free boundary. Differentiating both sides of the condition (5.94) with
respect to r in subdomain I yields
0B,
S

0B,

(55(r,0).7:) DL (r.1) + O

or

0Sy
S¢(r,t),r,t) =n—=(r1).
( f(?", )’T’ ) n or (7“, )
Using the condition (5.95), we arrive at

0B,
or

Consequently, the conditions (5.94) and (5.95) guarantee that all the first
derivatives are continuous at the free boundary and we only need to impose
the conditions (5.94) and (5.95) on the solution in subdomain I.

Thus in subdomain I, the solution B.(S,r,t) and the location of the free
boundary S = Sf(r,t) are obtained by solving the following problem:

(S¢(r,t),r,t) =0.
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Fig. 5.4. The price of a two-factor

0B,
4 Lg,B.+kZ =0,
En + Ls.B. + k 0 0
0
B.(S,r,T) = max(Z,nS), 0
B.(S¢(r,t),r,t) =nSe(r,t), n
0B,
a8 (Sf(T,t),T,t) =n, Tl
Z kZ
Sf(’/‘,T):InaX (nam)7 T

whereas in subdomain II, B.(S,r,t)
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0.3

Interest Rate (r)

convertible bond with 7" = 30 years

SSSSf(T,t), TZSTS’I"u,
<t<T,

SSSSf(TaT)v T’l<7’<7'u,
<r<re, 0<t<T, (5.96)
<r<r, 0<t<T,

<SS Ty

nS. The problem (5.96) is usually

called a free-boundary problem for convertible bonds.
The starting location of the free boundary

S¢(r, T) = max (

Z kZ
n’ Don

goes to infinity as Dy tends to zero, so there is no free boundary at time 7.

Because
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(8615 + Ls,r> nS+kZ>0
always holds when Dy = 0, no free boundary can appear at any time. This
means that there is no free boundary when Dy = 0. Thus, the value of a
convertible bond in this case is determined by the problem (5.91).

In Fig.5.4, the price of a two-factor convertible bond with Dy = 0.05 is
shown. For this case, there is only one free boundary, which confirms our
assumption. The result there is obtained by the singularity-separating finite-
difference method, which will be described in Chap. 9.

A convertible bond can also have a call feature that gives the company
the right to purchase back the bond at any time (or during specified periods)
for a fixed amount M;. In this case, the price of the bond must not exceed
M; because no one will spend an amount more than M; to buy a bond that
can be purchased back for an amount M; at any time. When we evaluate the
price of such a bond, the constraint

Bo(S,rt) < M;, 0<S, r<r<r,, 0<t<T (5.97)

is required. Because of this condition, the price of a convertible bond with a
call feature can be less than a convertible bond without this feature. Because
the company gets more rights, the buyer of the bond should be asked to pay
less money.

A convertible bond can also incorporate a put feature, which means that
the owner of the convertible bond can return the bond to the company for an
amount My at any time. Now we must impose the constraint

B.(S,r,t) > My, 0<S, r<r<r, 0<t<T. (5.98)

This condition might increase the value of the bond. The owner of the bond
has more rights, so he usually needs to pay more money in order to purchase
such a bond.

Just like the constraint (5.92), the constraint (5.97) or the constraint (5.98)
may induce a free boundary or make the free boundary more complicated. For
example, for a convertible bond with a call feature, the location of the free
boundary at t =T is

S¢(r,T) = min (M, max (Z i )) , r<r<r,. (5.99)
n

n’ Don

If we assume that r is a given function of ¢, then the bond is a one-factor
convertible bond. When Dy > 0, the free-boundary problem is
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5282 -D — r(t)Be + kZ =
o —|—2a S 552 + [r(t) 0]S 35 r(t)B. + k ,
0<S<Spt), 0<t<T,
B.(S,T) = max(Z,nS), 0< 8 <Sp(T),
B.(Sy(t),t) =nSy(t), 0<t<T,
0B,
— <t <
(0.6 =, 0<i<m
Z kZz
Sf(T)—maX(n,m>

(5.100)

This problem is only a little different from an American call option problem.
Similar to an American option, it can be proved rigorously that there is no
free boundary if Dy = 0 for the case r = constant. This is left as Problem 29
for readers.

Problems

1. (a)

Table 5.1. Problems and sections

Problems|Sections|Problems|Sections|Problems|Sections
1-3 5.2 4-9 5.3 10 5.4
11-17 5.5 18-25 5.6 26-30 5.7

*Suppose the short rate is a known function 7(¢). Consider a bond
with a face value Z and assume that it pays a coupon with a coupon
rate k(t), that is, during a time interval (¢, ¢+ dt], the coupon payment
is Zk(t)dt. Show that the value of the bond is

V(t) = Ze= i rinar

T
1+/ k(T)efrT“T)deT} .
t

Suppose that 7(t) and k(t) are equal to constants r and k, respectively.
Show that in this case,

V(t) = Ze TN 4+ k(e" T — 1) /r].

Suppose that the bond pays coupon payments at two specified dates T}
and Ty before the maturity date T" and the payments are Zk; and Zko,
respectively. According to the formula given in part (a), and assuming
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T < Tb, find the values of the bond for ¢t € [0,T}),t € (T1,T»), and
t € (T, T), respectively, and give a financial interpretation of these
expressions.

Suppose that the short rate r satisfies

dr = udt + w(t)dX,

where dX is a Wiener process. Assume that during the time period [0, t*],
for example, ¢* being 1 or 3 months, the interest rate is equal to the short
rate r. Thus the price of a zero-coupon bond at t = 0 with face value
one and maturity date t* is e "*". Because the zero-coupon bond can be
traded on the market, we can take IT = V(r,t) — Ae~""" as the portfolio in
order to derive the PDE for V(r,t), the price of an interest rate derivative.
Derive the PDE for V(r,t) in this way.

Suppose that the short rate r satisfies

dr = udt + w(t)dX,

where dX is a Wiener process.

(a) Find the stochastic equation for B(r) = e by using It6’s lemma,
where t* is equal to, for example, 1 or 3 months.

(b) As we know, B(r) is the price of a zero-coupon bond at ¢ = 0 with
face value one and maturity date ¢* if during the time period [0, ¢*] the
interest rate is a constant. V (B, t) is any derivative on the zero-coupon
bond. Derive the PDE for V(B,t) by using It6’s lemma directly.

(¢) As we know, if dr = udt + w(t)dX, then the price of any derivative
security on r, V(r,t), should satisfy the equation

—rt*

o o1, 0V ov

where kZ is the coupon of the derivative. Define V (r,t) = V(B(r), ).
Find the PDE for V(r,t) from PDE obtained in part (b) by using
transformation. This equation should be the same as the equation
given here. Based on this fact, determine A.
Suppose that a(r,t) = > a;(t)rt and b(r,t) = > b;(t)r" and require that
i=0

=0

the problem

oV 0%V oV
o —|—a(7‘,t)ar2 —|—b(r,t)8r rV =0, 0<t<T,
V(rT) =1

has a solution in the form

Virt) = A —rB(1)
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Show that in order to fulfill this requirement, between a; and b;,i =
2,3, -, there must exist the following relations:

aiB—bi=0, i=2,3,~--.

This means that in order to choose a(r,t) and b(r,t) independently and
for the solution to be in the form eA()~"B®) we have to assume a(r,t) =
aop(t) + ay (t)r and b(r,t) = bo(t) + by (¢t)r.

. Suppose that a(r,t) = ao(t) + a1(t)r and b(r,t) = bo(t) + bi(t)r. Show
that the problem

v 0%V %
5 —|—a(7‘,t)6r2 +b(T’t)3r rV =0, 0<t<T,
V(r,T)=1

has a solution in the form
V(Tv t) _ eA(t)frB(t)

with A(T) = B(T) = 0 and determine the system of ordinary differential
equations the functions A(t) and B(t) should satisfy.
. *In the Vasicek model, the short rate is assumed to satisfy

dr = (g — vyr)dt + /- pdX, 8 <0, v >0,

where fi, 7, and 8 are constants, and dX is a Wiener process. Let the
market price of risk A(r,t) = A\\/—B. Then, the price V(r,t;T) of a zero-
coupon bond maturing at time 7T with a face value Z is the solution of
the problem

ov 1 0%V ov
+5(=B)gm T =)~V =0,

ot 2 or
—co<r<oo, 0<t<T,
Vir,T;T) = Z, —o<r<oo, 0<t<T,

where -
p= g+ AB.
(a) Show that this problem has a solution in the form

V(r,t;T) = ZeAtT)=rBET)

and A and B are the solution of the system of ordinary differential
equations
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with the conditions
AT, T) =
B(T,T) =

(b) Find the solution of the above problem of ordinary differential equa-
tions by solving the two ODEs and show that the expressions of A
and B can be rewritten as

_ B B B
he ()@ (L) Lo

1
B=2(1—e(T-0
~ (1—e)

if the solution obtained is not in this form.

7. Show
B Bly—v) v—w] (v —¥) /o
iﬂ{a“[awww*“ w "B -0 /a
[ By +9) v+w] (v +9)/a }
[a(v—ww*“ | "B+ /a
B B w B w BB?
_—<272—|—7 (T_t)+(2ﬁ/2+’y>B+47’
where

B(t,T) = % (1 - e*V(T*t)> and ¢ =72+ 2a.

(The two sides are two expressions for A(t,T) associated with the Va-
sicek model obtained by different approaches. This confirms that the two
different approaches give the same answer.)

8. *In the Cox—Ingersoll-Ross model, the short rate is assumed to satisfy

dr = (u —r)dt + vVardX,

where p, 7, and « are constants, and dX is a Wiener process. Let the
market price of risk A(r,t) be Ay/ar. Then, the price V(r,t;T) of a zero-
coupon bond maturing at time T with a face value Z is the solution of
the problem

ov 1V oV
o g TGy TV =00 O 0<isT
Vir, T;T) = Z, 0<r,

where v = 7 + Aa.
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(a) Show that this problem has a solution in the form
V(irt;T) = ZeAWT)—rB(t,T)

and A and B are the solutions of the system of ordinary differential

equations
A
“a_ pB,
g—é = 1OzB2 +vB -1
a2 K
with the conditions
AT, T)=0
and
B(T,T) =0.

(b) Find the solution of the above problem of ordinary differential equa-
tions by solving the two ODEs and show that the expressions of A
and B can be rewritten as

A=1 ( pe(1+)(T—1)/2 )2“/0‘
= 1n y
(7 + )t T=1 — (v — 1))

2(e¥(T=1 1)
O+ )T = (y = )
with ¢ = /42 + 2«
if the solution obtained is not in this form.
9. Show

B =

7 [Belm o] " B ) o] T
(v =¥)/a (v +¢) Ja

e—rB7

A [ 2he(VFVNT—1)/2 ]2”/“
(v + )T — (v = 4))

where
2 (evT=H —1)

(Y + ) e? T — (v —¢)
(The two sides are two expressions for the zero-coupon bond price associ-
ated with the Cox—Ingersoll-Ross model obtained by different approaches.
This confirms that the two different approaches give the same answer.)
10. *Describe a way to determine the market price of risk for the short rate.
11. *Suppose that any European-style interest rate derivative with a contin-
uous coupon satisfies the equation:

vV 1 0%V oV
5 —|—2w 52 + (u )\w)ar rV+k=0 rn<r<r, t<T,
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where k is the coupon rate corresponding to the derivative, the coefficients
u and w satisfy the reversion conditions on the boundaries r = r;, r = ry,
and A is a given bounded function. Describe how to evaluate the price of
a European call option on a bond with coupon by using this equation.
12. (a) Let Z(t;T*) be the price of a zero-coupon bond with a face value of
one dollar and with maturity date 7* at time ¢ and let f(t,T,T + %)
be the forward interest rate compounded semiannually at time ¢ for
the period (T, T + 3). Show

- 1 Z(t;T)
t, T T4+ - | =2 | 77— —1].
Ferres) =2 | garim Y
(b) There is a cash flow %f(tk_l,tk_l,tk), tp being t+k/2, k=1,2,---,
2N and tg being t. Find the value of the cash flow at time ¢.

(¢) *Show that the value of an N-year swap with swap rate rs and with
notional principal @ is

2N
ViTir) = Q 1= Z(I5T+ N) = 23 2(15 T+ k/2)
k=1
where T is the time the swap initiates.
13. Show that the solution of the problem
ov. 1 ,0%V oV
— + W —Aw)— —rV =0
ot T2V g Tl G V=0,
r<r<ry, t<T,
V(T,T;T):l, <1<y
is the same as that of the problem
ov. 1 0%V ov
— 4+ —wf—— —A\w)— — ot—T)=
gt T3V g Tl A G m Vot = 1) =0,
rn<r<ry, U<T,
V(r,TT;T) =0, r <1<y,
for any t < T.

14. Let Vi (r,T) denote the price of a (k/2)-year zero-coupon bond, k =

2N
1,2,--- 2N, and we want to get > Viix(r,T). Consider the following
k=1
procedures. The first one is to solve the following problems
WVar 1 ,0*Vay Vi1
: 1 : ) :
o T2V e T Aw)

_r‘/slli}:()7 TZSTST’U,’
T<t<T+k/2,

Vaie(r, T+ k/2) =1, e <r <1y,
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2N
k = 1,2,--- 2N, and then obtain > Vii(r,T) by adding Viik(r,T),

k=1
k=1,2,---,2N, together. The second one is to solve the problem:
8‘/51 1 282‘/;1 6‘/:91
- - A —rV;
o T3 g Tl Y
2N
+ >0t —-T—-k/2)=0,
k=1

rn<r<r, T<t<T+N,

Vsi(r, T+ N) =0, r<r<ry.
2N
(a) Show Vi (r,T) = Z Vi1k(r, T) holds.

(b) In order to get Z Vs1k(r, T'), which procedure is better and why?

Suppose that the solutlon of

o 1 LoV ov .
E_‘_iw 92 ( )\’LU)E—TV—O ST STy, TSt <,
Vr ti;te) = 1, T ST STy

is V(r, t;t) and that V(r*, t*; tx) = Z(t*; tx). Also assume that Vi (r, t;7s)
is the solution of

v, 1 ,0°V, v, W Qry
N —|—§w 572 + (u— Aw) 5 . I% -2 ot —ti)
ftie, tir, i
ol S (ke k27 k1) 5(t— tpes1) =0,

rp<r<r,, t"<t<T+N,

V;(T’,T-FN;TS):—Q, T[STS?"u.

Here, Vi(r, t;75) actually is the value of a swap. @ and 7, are the notional
principal and the swap rate, respectively. t*, T, and N denote the time
today, the time the swap is initiated, and the duration of the swap with
the relation T < t* < T + N. k* is the integer part of (t* — T')/2, and
th=T+k/2, k=k*+1,k"+2,--- | 2N. f(ty,tp=,tp=11) is the 6-month
LIBOR for the period [tg«,tg+1] determined at time tg«. Show

[\3\'—‘

Ve(r*, t5rs) = QZ (1" tg41) [ f(tre, tee, tk*+1):|

2N
—Q[ > %Z(t*;tk)+Z(t*;T+N)

k=k*+1
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16. *Suppose that any European-style interest rate derivative satisfies the

equation:
ov 1 ,0%V ov
— [ = <r<
at+2 82+( )‘w)ar TV+f(t) 07 ST STy,

where all the coefficients in the equation are known. Let Vi, (r,t) be the
value of a T-year swaption on a N-year swap. Its payoff is

Qmax(lZ(T T+ N) —EZZTTJrk/Q) >

where @) is the notional principal, rs. is the exercise swap rate, and
Z(T;T + k/2) is the value of zero-coupon bond with maturity k/2 at
time T'. Describe how to find the price of the swaption, including to find
the payoff of the swaption, by solving this equation from T+ N to T and
from T to 0.

17. Consider an N-year floor with a floor rate ry. Suppose that the money
will be paid quarterly at time t; = t* + k/4, k = 2,3,--- ;4N, and the
floating rate is the 3-month LIBOR. Suppose that Vi (r, ) is the solution
of the problem

+(u—)\w)%—r%k—0

r<r<ry, tge1 St <tg,

Vi 1 282‘/},k
ot T2V a2

‘/llk(rvtk):Q(l+%>7 Tlérgruv

where k =2,3,--- ,4N and Vy(r,t) is the solution of the problem

vy 1 ,0%V av;
i A ) —L
ot T3V g T Aw)GE oV

4N

+ > max(Vpr(r,te—1) — Q,0)0(t — tr—1) =0,
k=2
rp <1<y, <t <tin_y,

Vi(r tan_1) =0, r <1<y

Show that the premium of the floor should be
Vi(r*,t"),

where r* is the short rate at time ¢*.
18. (a) S is a random vector and its covariance matrix is B. Let S = AS,
A being a constant matrix, and its covariance matrix be C. Find the
relation among A, B, and C.
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(b) How do we choose A so that C will be a diagonal matrix?

(c) *Suppose that Sy, S, - -, Sy are variables and Sy, ,, Sk .0, , Sy are
fixed numbers. Find the dependence of Sy, Sk s, ,Sy on Sy, So,
oy S

19. (a) Suppose that there is a domain {2 on the (Z;, Zs)-plane, the boundary
of 2is I', and (n1,n2)” is the outer normal vector of the boundary
I'. Assume that Z; and Z, are two stochastic processes and satisfy
the system of stochastic differential equations:

dZZ = [Li(Zl, Zg,t)dt + Ui(ZIa Zg,t)dX1 Wlth ag; Z 0, 1= 1,2,

where dX;,i = 1,2, are the Wiener processes and E [dX1dX3] = p12dt
with p12 € [—1,1]. Suppose that at t = 0, (Z1,Z2) € (2. Show that
in order to guarantee (Z1,Z) € {2 for any time ¢ € [0,T], we need
to require, for any ¢ € [0,7] and for any point on I', the following
condition to be held:

(i) if ny # 0 and ny = 0, then

nipy <0,
o1 =0;
(ii) if n; = 0 and ny # 0, then
napa <0,
o9 = 0;
(iii) if ny # 0 and ng # 0, then
nip1 + naps <0,
nio1 — sign(ning)neos =0, and  pro = —sign(ning),

where
1, ifning >0,
sign(ning) =
—1, if ning < 0.

If a point is a corner point, then there are two normals and we need
to require this condition to be held for the two outer normal vectors.
(b) Suppose that the domain £2is Zy; < Z; < 1l and Zy < Z3 < Zp, where
Z71; and Zg; are constants, and Zy; > Zo;. Find the concrete condition
for each segment of the boundary according to the condition given in

part (a).
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20. Assume that 73,75, Z3 are random variables and satisfy the system of
stochastic differential equations:

de = Wi (217Z27Z35t) dt + o (Z17ZQa Z37t) dX’Lv 1= 172537

where dX; are the Wiener processes and E [dX;dX;] = p; ;dt with p; ; €
[—1,1]. In order to guarantee that if a point is in a domain {2 at time ¢*,
then the point is still in the domain {2 at ¢t = t* + dt for a positive dt, it
is necessary to require that the condition

nlel + ’flgng + ’rl3dZ3 S 0

holds at any point on the boundary of the domain (2, where nq, ng, and
ng are the three components of the outer normal vector of the boundary
at the point. Suppose that the domain 21is {Z1; < Z; <1, Zy; < Zy <
Z1, Zs; < Z3 < Zy}. Show that on the surfaces Z; = 1, Zy = Zy, and
Z3 = Zs, the condition is equivalent to {u1 < 0, o7 = 0}, {u2 > 0,
o9 =0}, and {—p2 + u3 <0, 02 = 03, pa,3 = 1}, respectively.
21. Suppose that oy (Z;, Za, Z3,t), 02 (21, Za, Z3,t), and o5 (Z;, Za, Z3,1) are
defined on (2 : {Zl,l S Zl S 1, Zg,l S ZQ S Zl, Zg,l S Z3 S ZQ} Assume
that
(l) g1 (Z17I7ZQ,Z37t) = 0 on surface I: {Zl = Zl,l7 ZQJ S ZQ S Z17
Zs1 < Z3 < Zy}.

(11) 01 (1, ZQ,Zg7t) = 0 on surface II: {Zl = ].7 Zg’l S ZQ S Zl, Zgﬁl S Zg
< Z»}.

(iil) o9 (Z1, 224, Z3,t) = 0 on surface III: {Z1, < Z1 <1, Zy = Zy,
Z3y < Z3 < Za}.

(IV) 01 (Zl, Zl, Zg,t) = 02 (Zl, Zl, Zg,t) ;s P1,2 (Zl, Zl, Zg,t) =1 on sur-
face IV: {Zl,l S Z1 S 1, ZQ = Zl, Zgyl S Z3 S ZQ}

(V) g3 (Zl, ZQ,Z&[J) = 0 on surface V: {Zl,l S Z1 S 1, ZQJ S ZQ S Zl,
Zy = Zs 1 }.

(Vl) ()] (Zl, Z27 Zg,t) = 03 (Zl, ZQ, Z27t) , P2,3 (Z17 ZQ, Zg,t) = 1 on sur-
face VI: n {Zl,l S Zl S ]., ZQJ S ZQ S Zl, Z3 = ZQ}

Define

ARSAN
61 = ’
1—-21,
Ly — Za
62 - ’
Zy — Zay
Z3 — 243,
53 = ’
Zoy — 73
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~9 01
Ul(§17€21€37t) R — W)
(1-21)°
2¢2 2
~9 015 — 2010262012 + 03
02(5135%53,15) = ;
(Zy — Z24)°
2¢2 2
<2 0585 — 2020383p2,3 + 03
U3(§1?§25537t) =
(Zy — Z3,)°

Show that the assumption on o1, 03, and o3 is equivalent to

5—1(07527537t) = &1(17527637t) = 07
52(£1,0,83,1) = 52(61,1,&3,1) = 0,

&3(§1a§2705t) = 63(617&27 1at) =0

22. (a) Show that under the transformation

1= 7y
gl - )
1-21,
 Zo— 2y
52 - )
Zy — 2y
the partial differential equation
2 2 2
1 0*V )%
22 2 il g7a7, T 2 by
i=1 j=1 i=1

0<&6<1,0<&<1,

0<6<1,0<56 <1

rV =0

1 2.2 o
5;;aiajpw8£ag Zb@fl rV =0,

o1 (01&2 — 02p1,2)

(Z1 — Z2,l)2

5 (0383 — 2010982012 + 03)

becomes
where
by — ’I"Zl
R A
by — " (Zy — Z1&2)
9 =
Zy — Zay
and 71, 02, p1,2, are determined by
1
16.2 _ 50%
2 1 — - Z 2
(1= Z14)
1
508 =
(Z1 -

Zz,z)2
o1 (02p1,2 — 0162)

i

0102pP1,2 = (1 — Zl,l) (Z1 — Zz,z).

)
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Show further that the expression of by can be rewritten as

r(Zs — Z1&)  0162p12 (1 — Z1,1)
Zy — Zay Zy — Za )

by =

o; and b; given above are functions of &1, &, t and let 6;(&1, &2, ) and
bi(&1,&2,t) denote these functions, ¢ = 1 and 2. Show that if

5’1(0,52,@:5'1(1,5270:0, OS&QSL

&2(£1a0at):&2(51517t):0a 0S§1 §17
then
bl(o>£27t) Z 07 b1<17§2at) = 07 0 S 52 S 17
b2(£1707t) 207 b2(£1717t):07 O§£1 S]-

(Hint: 7(&1,&2,t)]e,=1 = 0. This can be explained as follows. {&; = 1
means Z; = 1, thus the zero-coupon bond curve must be flat near
T = 0 and its derivative with respect to T' at T = 0, 7(&1,&2,t)]e,=1
equals 0. When &, b;, i = 1,2, satisfy these conditions here, it can be
proved that the final value problem

5V 0%V 2
0 + b —rV =0
i geog, T 20 agz

on [0,1] x [0,1] x [0,T7,

V(&1,&,T) = Ve(&, &) on [0,1] x [0,1]

has a unique solution.)
*Show that under the transformation

£ = ARAN
Y=z
£ = Zoy — Zay
Zy— Zyy'
_ Z3— 23
&=——7",
Zy — Zs,
the partial differential equation
W I~ PV av

becomes
3 3 3
1 ... 0V ov
7_5_5;2::0001,]8&8&4‘;58& rV =0,

and find the expressions of 61, 62, 03, p1,2, p1,3, P2,3, b1, b2, and b3.
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(b) Show
51(0,&2,83,t)
52(£1,0,&3,1)

&3(51352’070 = 5—3(517523 lat) = 07 0< 51 < ]-7 0< 62 < ]-7
and

b1(07£2363;t)207 bl(l 527637 ): ) 0§€2§17 0§§3§17
b2(£170a§35t) Zoa b2(§1517€37t):07 Oggl §17 0S§3§17

b3(£17§2703t> 207 b3(€17§2717t):07 ngl Slv 0§§2§1

&1(17§2a§35t)20a OS£2S1a O§£3S1a

5—2(61717537t):07 O§§1§17 0§§3§17

(When 6;, b;, i = 1,2, 3, satisfy these conditions here, it can be proved
that the final value problem
ov 13 3 0%V
-+ 0i0;Pi b V=0
8t + 2 Z Z O-ZO-JIO ,J aflagj + E 852 -r

i=1j=1 i=

on [0,1] x [0,1] x [0,1] x [0, 7],
V(£17£Qa€3aT) = VT(€17£2>£3) on [Oa 1] X [07 ” X [0’ 1]

has a unique solution.)
24. Assume that Zi, Zs, Z3 are random variables and satisfy the system of
stochastic differential equations:

dZi = K (ZhZQvZ?)at) dt + g; (Z17Z2a Z37t) dX?m 1= 1a2537

where dX; are the Wiener processes and E [dX;dX;] = p;;dt with —1 <
pi; <1, and that &, & and &3 are governed by

déi = (€1, &2, &3, t)dt + 64(&1, &0, &3, )dX;, i =1,2,3,

where d)~(i are the Wiener processes and E [df(idf(j} = pi;dt with —1 <
pij < 1. Furthermore, we suppose that &;, {» and &3 are defined by

I —Zyy

1= ———,
1—-2y,

Lo — 23y

§o= 5—F—,
Zy — Zay

_ Z3—Z3y

63 - )
Zy — 43

where 7y, Z2,;, and Z3,; are constants. Find the expressions of &1, 72,
03, P12, P13, P23 as functions of o1, 02, 03, p1,2, p1,3, p2,3, Z1, Z2, and Z3
by using Itd’s lemma.
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25. Suppose that &;,& and &3 satisfy the system of stochastic differential
equations:

déi = (€1, &2, &3, t)dt + 63(&1, &2, 63, )dX;,  i=1,2,3,

where df(i are the Wiener processes and E [dXidX]} = pydt with —1 <
pij < 1. Define

Zy (&) =Zu+& (1 —-21y),

Z3(&,&)  =Zoa+&[Z1 (&) — Z2y]
=Zo+&[Z1+6 (1 —21,) — Zay],

Z3(81,€2,83) = Z3u + & {22 (€1, 82) — Z3a}

=Z31+ & {221+ & [ Z1,+6 (1 —Z1) — Zay| — Zs,1} -

Assume that Z7(&1), Z2(&1,&2), and Z3(&1, &2, &3) represent prices of three
securities. Let V (&1, &2, &3,t) be the value of a derivative security. Setting
a pOI‘thliO nH=Vv- A1Z1 (51) — AQZQ(gl, 52) — A3Z3(§1, 52, 53) and using
Itd’s lemma, show that V(&1, &, &3, t) satisfies the following PDE:

3 3

ov 1 ... 0%V rZ, OV
a + 5 ;;Uidjpi,jagiagj + 1_ Z17l 8751
L {T (Zo— 21&)  6162p12 (1 —Z1y) ] OV
Zy — Zyy Zy — Zay 062
. {T (Z3 — Z2&)  0103p1,382 (1 — Z14) + 5203p2,3 (Z1 — Z24) | OV
Loy — 23 Ly — Z3 0&3
—rV =0.

26. Consider a two-factor convertible bond paying coupons with a rate k. For
such a convertible bond, derive directly the partial differential equation
that contains only the unknown market price of risk for the short rate.
“Directly” means “without using the general PDE for derivatives.” (Hint:
Take a portfolio in the form IT = AV} + AsVs + S, where Vy and Vs are
two different convertible bonds.)

27. *Formulate the two-factor convertible coupon-paying bond problem as a
linear complementarity problem.

28. Consider two-factor convertible coupon-paying bond problems.

(a) Show that if Dy < 0, then there is no free boundary; if Dy > 0, then
there exists at least one free boundary.

(b) *Formulate a two-factor convertible coupon-paying bond problem as
a free-boundary problem if Dy > 0. (Suppose it is known that on the



29.

30.
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free boundary, the price of the convertible bond and its derivative are
continuous, and assume that there exists only one free boundary.)
Consider the problem
0B, 1 0’B,

1 900
o T37 % g5

0B,
+(r = Do)S g —rB.+khZ =0,

0<S, 0<t<T,

B.(S,T) = max(Z,nS), 0< S,
where o, 1, Do, k, Z, and n are constants. Show that if Dy < 0, then
B.(S,t)>nS for 0<t<T.

(Hint: Define B.(S,t) = B.(S,t) — by (t), where by (t) is the solution of the
problem:

db
d—tofrbo+kZ:O, 0<t<T,

bo(T) = 0.

Show B.(S,t) > nS and by(t) > 0, and then show B.(S,t) > nS.)
(Remark: If the solution of this problem fulfills the constraint condition
B.(S,t) > nS for 0 < ¢t < T, then the solution of the problem above
represents the price of a one-factor convertible bond. In this case, the
solution of a one-factor convertible bond does not involve any free bound-
ary. Therefore, no free boundary will be encountered when one prices a
one-factor convertible bond with Dy <0.)
Consider the problem
0B, 1 0%B.

+ —025?

B
ot 2 952 +(7”—Do)58 * —rB.+kZ =0,

oS

0<S, 0<t<T,

B.(S,T) = max(Z,nS) = nmax(S — Z/n,0) + Z, 0<S,

where o,r, Dy, k, Z, and n are constants. Show that its solution is
ne(S,t; Z/n) + Ze "(T—0 {1 +k (eT(T*t) - 1) /r] ,

where ¢(S,¢; Z/n) is the price of a European call option with an exercise
price E = Z/n. This means that the problem can be understood as a
problem to determine the value of an investment consisting of n units of
European call options with £ = Z/n and a bond with face value Z and
coupon rate k [see the result of Problem 1 part (b)]. According to the
result of Problem 29, if Dy < 0, then it is the price of a convertible bond.
Therefore when Dy < 0, the value of a one-factor convertible bond is equal
to the price of n units of European call options with E = Z/n plus the
price of a bond with face value Z and coupon rate k.
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